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Question Number : 1 Question |d : 7368157475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 91 into a binary number.
Options:

1 « 1011011
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2

2 % 1001100
4 % 1101101

Question Number : 1 Question Id : 7368157475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
91 & FEAY TEAT # aRaad #1
Options:

. v 1011011
. = 1100110
. = 1001100
. % 1101101

Question Number : 2 Question Id : 7368157476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of prime factors in (28)" x(36)"x(15)° are:

Options:
; ® 136

5 o 126
3 % 152
4 % 119

Question Number : 2 Question Id : 7368157476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(28)7 x (36)° x (157 F =T ORI I HEAT gl
Options:

1 % 136

> o 126

. % 152

4 % 119

Question Number : 3 Question Id : 7368157477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What least value must be assigned to * so that the number 500%629 is divisible by 97

Options:
1 ® 7

2_%5
3. ¢ 5
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4 % =

Question Number : 3 Question Id : 7368157477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

+ F FF T ~YATH A &I AT =ET, ik TETr 5004629, 9 ¥ RFar=w
Zr

Options:

1. % 7

2_%5

3¢ O
4 % 2

Question Number : 4 Question Id : 7368157478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 1213 x 9995+1213

Options:
1 ® 12130009

> % 12139999
s % 13219999
4 v 12130000

Question Number : 4 Question Id : 7368157478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IOTAT FY : 1213x9999+1213.
Options:

1 % 12130009
> % 12139999
= = 13219999
4 « 12130000

Question Number : 5 Question Id : 7368157479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the units digit in (2015)*"° +(201""
Options:

1 & 5

fag

> R

I

T W

[

4
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

(2015 +(2011"* & SHTS FT & AT L
Options:
1 % B
> ® 3
2 ® 2

4 ¢ 6

Question Number : 6 Question Id : 7368157480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I0TAT &L : 504 x 625+625.
Options:

. % 315565
. » 315625
. = 356125
., = 315665

Question Number : 6 Question Id : 7368157480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 504 x 625+625

Options:
, % 315565

> o 315625
3 ® 356125
4 ® 315665
Question Number : 7 Question Id : 7368157481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Prakash studies for 9% hours daily. He devotes 4% hours of his time for
Science. How much time does he devote for other subjects?
Options:

Slhm
1, W

5—hrs
2 %

5—hrs

o B 10
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S5—hrs
4 #® 6

Question Number : 7 Question Id : 7368157481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

quﬁﬁﬂg_a%dqamaqﬁ FGT g1 98 394 §HT F 4_151%1:&?&1?
F 2 ¥ T7 3= RS F e T 3

Options:
1

1. 2

':," +*

52 g
10

3 ®

52 g
(3]

4 %

Question Number : 8 Question Id : 7368157482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Shlok and Vikram together bought a water bottle that contained 10 litres of

i3 ;3
water. Shlok consumed 5 of the water. Remaining water was consumed by

Vikram. Find the amount of water consumed by Shlok in litres?

Options:
. WETSL

> % 45L
s % 5.75L
4 % 325L

Question Number : 8 Question Id : 7368157482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

el AT T & T |1 9= F Sig9e TEr formd 10 e 91y o) 9sleh
#g—mﬁﬁmaﬁmmﬁrﬁw#ﬁm| oo F fraer s e R

Options:

| v 3.75 ®eX
> % 4.5 #eT

5 % 5.75 X
4 % 3.25 &freT

Question Number : 9 Question Id : 7368157483 Question Type MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Lh | ode

Revathi. Karthika, Devyani and Apoorva finished coloring a picture in E hour. - hour,

hour and % hour respectively. Who among the following finished their coloring last?

Options:
1 % Karthika

5 % Apoorva
3 « Revathi
4 % Devyani

Question Number : 9 Question Id : 7368157483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Y, Fifae, dFant 3 e 3 FAw Euﬁr%m‘iaﬁrsﬂ?%m‘ﬁr
JER # T o #1 &7 U Fan @i & 8 e q90 aofal 7 &
HTAT AT &Far?

Options:
1 % EEa
94T

- B &,

EJW
4 % I

Question Number : 10 Question Id : 7368157484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which among the following is the smallest?
4 6 7

577 TR

Options:

e N

1%

i L [
% ® L 4

— O e |
E|=4 "'|m l I8

Question Number : 10 Question Id : 7368157484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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St Lh0 & a’%ﬂ @ g”

- 5 6 J
RS TR
Options:
3
%7
2
5w
6
=z ® H
7
4%5

Question Number : 11 Question Id : 7368157485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference of two numbers is 22 and three-fifth of their sum is 18. Find the largest
number.

Options:
1 ® 35

o W 45
T W 28
4 o 26

Question Number : 11 Question Id : 7368157485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 3/ F7 AT 22 ¥ 3R 3= AT Fr 3/5 BEwr 18 &, W T2 §Ear
T ST

Options:

; # 35
> % 45
z % 28
4 v 26

Question Number : 12 Question Id : 7368157486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The difference between a number and its four-seventh is 6. What is the number?

Options:
1 & 10

> % 15

3.« 14
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4 ® =

Question Number : 12 Question Id : 7368157486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T HEAT 3R 30F 4/7 & €9 F7 3a¥ 6 &, O T2 &I FiT IO 72
Options:

1 ® 10
o> R 15

g 20

Question Number : 13 Question Id : 7368157487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the value of (=3)" »(3)7 = (3)°

Options:
1 o -243

o W a7
T =27
4 % -108

Question Number : 13 Question Id : 7368157487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(=3)"%(3)"° %(3)° T AT AT FL:

Options:

1« -243
o M 2]

z % =27
4 % -108

Question Number : 14 Question Id : 7368157488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ifg 59X3-4Y98=1065 &, ar FaToi@d ® ¥ Y & TAH I FT AT IAMgT?
Options:

1_%5

2_%5

3 ¢ 8

4.W3
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

If 59X3-4Y98=1065. then which of the following should come in place of Y?
Options:
1 % 5
o % 0
3¢ 8
4 % 3

Question Number : 15 Question Id : 7368157489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(684+359)" +(684—359)
684 684 +359x% 359

Solve :

Options:
. % 156489

I

2
= % 53468
4 % 4543555

Question Number : 15 Question Id : 7368157489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
. (68B4+359)° +(684—359)
o Y
684684+ 359359

Options:
. % 156489
2 & 2

- 534685
, % 4543555

Question Number : 16 Question Id : 7368157490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The present salary of Gireesh is Rs.16800. This will be increased by 11% in the next year.
What will be the increased salary of Gireesh?

Options:
; % Rs, 19958

> % Rs.17850
5 « Rs.18648
4 % Rs.17950

Question Number : 16 Question Id : 7368157490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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frdrer &1 A 397 T 16800 & 3Ter a9 11% Hr i gef| 3fF & arg
frdrer =1 T g3 I g gem?

Options:

| % ¥ 19958
. % T. 17850
2 v T. 18648
. % T. 17950

Question Number : 17 Question Id : 7368157491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination, 92% of the candidates passed and 1600 failed. How many candidates
appeared for the examination?

Options:
1« 20000

> % 14000
s % 12000
4 % 12500

Question Number : 17 Question Id : 7368157491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TR e H, 92% TlETe 3T HR 1600 eedion Ul Tl # fhaa
afremeft 39fEa o7

Options:

. v 20000
. = 14000
- = 12000
. % 12500

Question Number : 18 Question Id : 7368157492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
=
What percent of lé hours is 360 seconds?
Options:
1 % 5.5%
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

1§u%mmmqﬁamssomm§?

Options:

1 % 5.5%
- % b%
z % 6.55%
4 « 6%

Question Number : 19 Question Id : 7368157493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

55 9 : ¥. 2 20 Y I SHF WIAGH ®T H AT
Options:

;1 = 1:8
s « 1:4
z % 45
4 % 54

Question Number : 19 Question Id : 7368157493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Express 55 paise:2 rupee 20paise in its simplest form.
Options:

1 ® 1:8

> o 1:4

= % 4:5

4 ® 54

Question Number : 20 Question Id : 7368157494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Two numbers are in ratio 5:6. If 4 is subtracted from each. the ratio becomes 4:5. Find the
smallest number.

Options:

1 ® 20
2 ¢ 20
T W 24
4 % 15

Question Number : 20 Question Id : 7368157494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25 . - - - -
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a‘raqa:&eg:sq?_r__‘rm?rér’sp mi’rﬁ\aimm,%ry@mﬂﬁtﬁﬁm
2| TEY o OEAr AT FY
Options:

1 & 26
> v 20
= % 24
4 % 15

Question Number : 21 Question Id : 7368157495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A bag contains 50paise, 25paise and 10paise coins in the ratio 4:6:3 amounting to Rs.76/-.
Find the number of 25paise coins.

Options:
1 % 115

> % 110
5 o120
4 % 150

Question Number : 21 Question Id : 7368157495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ve o 7 50, 25 3K 10 9 F f@F FAw 4:6:3 F 3gud # & T g
A & 76/- g, & 25 9 & TOaer & =T A9 ]

Options:

. % 115
> % 110
2w 120
4 % 150

Question Number : 22 Question Id : 7368157496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 101.284.250.,463.102.

Options:
; % 450

> % 1225
3 % 1220
4 o 240

Question Number : 22 Question Id : 7368157496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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101, 284, 250, 463, 102 &r 3ga #d Fi

Options:

| % 450
, » 1225
- = 1220
4 v 240

Question Number : 23 Question Id : 7368157497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average of 6 quantities is 7. The average of four of them is 7. What is the average of
remaining quantities?

Options:

1.v 7

o W 15

o W 42

4 30

Question Number : 23 Question Id : 7368157497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

6 HEATHT FT itHT 7 Bl 5aAF ¥ 4 T&IAT &1 dt@a 7 & | W FEImaAt #7
st fFaar g

Options:

1.¢ 7

> % 15

2 % 42

4 R 30

Question Number : 24 Question Id : 7368157498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average monthly income of L and M is Rs.26000. The average
monthly income of L and N is Rs.25000 and the average monthly income
of M and N is Rs.24000. The monthly income of L is

Options:
, % Rs.25000
> % Rs.25500
= « Rs.27000

4 % Rs.28000
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

L 3tk M & sittag af@= 317 5. 26000 &, L 3k N & 3itog afgs s =
25000 & 3t M 3t N #r it 71f@s 3mo 7. 24000 &, oF L &r 71f@s 31
g e

Options:

, % T. 25000
, % . 25500
2 ¢ . 27000
. % . 28000

Question Number : 25 Question Id : 7368157499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the amount at simple interest on Rs.3200 for 4 years 6 months at 10% per annum.

Options:
1 ® Rs.3500

> o Rs.4640
= % Rs.3800
4 % Rs.3900

Question Number : 25 Question Id : 7368157499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

4 T 6 A & T 9fa 9w 10% $r T ¥ . 3200 9 TUROT == Fir
of3r AT ]

Options:

| % T 3500
., v F. 4640
- = F. 3800
L = ¥ 3900

Question Number : 26 Question Id : 7368157500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
s . & .49 . ; . .
Simple interest on a certain sum is — of the sum. Find the time, if both time and rate
percent are numerically equal.

Options:

15 L years
)

1 %

12 i vears
157

visit this website studytosuccess.in



Jqln Telegram More Update Note: All previous year Exam paper provides
5 % Zoyears

Svears
4 35years
Question Number : 26 Question Id : 7368157500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
v g ﬁﬂmﬂmmﬁmﬁmg%l Iy FEA F AR

THET AT 9faerd &7 U+ §AF §, 9 TAT &7 947 J900)
Options:
151 ¢
1 % 2
121 a¢
- R 15
- % 25 a¥

4 v 35 3§

Question Number : 27 Question Id : 7368157501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Simple interest for a sum of Rs.6100 for 2 vears is Rs.80 more than the simple interest for

Rs.5600 for the same duration. Find the rate of interest.
Options:
1 « 8%

o B 5%
s % 4%
4 % 3%

Question Number : 27 Question Id : 7368157501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 a¥ & fT . 6100 & Ufer 97 |ramor = 3T 67 3= & @w 5. 5600
T FUROT ST H o H AE T80 W Sy §, A = Fr &% AT H

Options:
1 89‘;0

o B 59‘;0
z R 4[3"’0

4 8 3%

Question Number : 28 Question Id : 7368157502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A watch costing Rs.1000 has been sold for Rs.1650. The percentage of profit was?
visit this website studytosuccess.in
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1 ® 45%
> % 55%
= o 65%
4 ® 60%

Question Number : 28 Question Id : 7368157502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

%. 1000 Fr SIMeTT Jrer U2 FT T 1650 F F=m| 1 Faar wiaea ar?
Options:

| % 45%
» % 55%
2« 65%
L % 60%

Question Number : 29 Question Id : 7368157503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sunanda sells a washing machine for Rs.16000. She loses 20% in the bargain. What was
the price at which she bought it?

Options:
1« Rs.20000

> % Rs.19000
5 % Rs.18500
4 % Rs.19500

Question Number : 29 Question Id : 7368157503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

geAeT A . 16000ﬁwaﬁhmﬁﬁafﬁr!3ﬁﬁamﬁﬁﬁzo%m§m
&3] 30 38 7 &w fag w @ier 4

Options:

. v T. 20000
., % % 19000
5 % % 18500
. % % 19500

Question Number : 30 Question Id : 7368157504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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the mechanic for its repair. Then, she sold it for Rs.2500. Find her loss percent.

Options:
1 ® 15.5%

> % 12.46%
= « 16.66%
4 % 12.5%

Question Number : 30 Question Id : 7368157504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT 7 T 2652 H TH IFG WA 3EA REr 1Y F FROT, 3HS AFAS F
BT v & Fr 7. 348 U, FT 30« 30 % 2500 #H 3¥ 2o 3@ aw
qﬁamaﬁ‘rgé?

Options:

. % 15.5%
o % 12.46%
- « 16.66%
4 % 12.5%

Question Number : 31 Question Id : 7368157505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An item 1is sold at Rs.492 by allowing a discount of 18% on its marked price. The marked
price of the item is

Options:
1 « Rs.600

~ % Rs.590
= % Rs.700
4 % Rs.650

Question Number : 31 Question Id : 7368157505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U IEG FH ST Hikd HHET T 18% H T IFT T. 492 I &= TAT| 3H
TFq W Heha FAT et o?

Options:

. v % 600
- % . 590
2 % T. 700

4 % %. 650
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Question Number : 32 Question Id : 7368157506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

What is a single discount equivalent to a discount series of 13% and 10%?

Options:
1 ® 24.5%

> o 21.7%
z ® 25%
4 ® 206%

Question Number : 32 Question Id : 7368157506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
13% 3R 10% & T HWT & WA Tohel T fohelel 87

Options:

| % 24.5%
oot 2. 7%
2 % 25%
L % 26%

Question Number : 33 Question Id : 7368157507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The marked price of a bicycle is Rs.2052. A shopkeeper allows a discount of 14% and get
a profit of 14%. Find the cost price of the bicycle.

Options:
1 « Rs.1548

-~ % Rs.1000
= % Rs.1900
4 % Rs.1950

Question Number : 33 Question Id : 7368157507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T WSthel T Hfha AT T. 2052 §1 $H gHeER ganT 14% & §T ga
9 T & 14% T 1 BT g1 FSfoheT @7 AR Hod AT Hi

Options:

| v T. 1548
., % % 1000
- = % 1900
L % ¥ 1950
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Study the following table carefully and answer the question that follows.

The below graph shows the percentage distribution of total
expenditure of a company.

25
20
15
10
| .
0
& Pl e = G =
4 (‘,‘9‘* &Qob' <3 {:FP o @a Mdb{*
o & & o
« 8 >
& & &
v W&
5

If the total expenditure is Rs.25.00.000, then what amount is spent on
Taxes?

Options:
; % Rs.3.70.000

-  Rs.3.75.000
- % Rs.3.74.000
., % Rs.3.73.000

Question Number : 34 Question Id : 7368157508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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AT To3 AT A T oA H Feaaa AR e T oot T Beat
=

A @ TR E F & T @@ F vl e g §

25

20
15 .
i)
| I
o
HERT EiFzr =z EE I
S IEE (Z=2E)

E e Fd =0T

ofE Fo =77 T, 25,00,000 2, & T 9 faraalr ofdr @ &r a1 27

Options:

, % ¥. 3,70,000
, v ¥ 3,75,000
. x ¥ 3,74,000
. = ¥ 3,73,000

Question Number : 35 Question Id : 7368157509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The below graph shows the percentage distribution of total expenditure
of a company.

25

20

15
1 I I I
D = -

If the total expenditure is Rs.15.00.000, then what amount is spent on Transport?

=]

LA

Options:

, % Rs.1.67.500
. % Rs.1.97.500
- % Rs.1.77.500
. v Rs.1.87.500

Question Number : 35 Question Id : 7368157509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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A T AH & T H FHeTTeT W oA TS o & e

CAICE:
A R T w9 & por aT F afaRe e g §

25

20

15

10
| I
0

XA FE =0T

IfE For =97 ©.15,00,000 &, & IiEgs W fraeh afr @ #r 7% 22
Options:

. = ¥ 1,67,500
, » & 1,97,500
. = T 1,77,500
. v & 187,500

Question Number : 36 Question Id : 7368157510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The below graph shows the percentage distribution of total expenditure of a
combany.

25

20
15
10
5
0

Which of the following constitute half of the company’s expenditure?

Options:
L ® Taxes+Salary+Interests on Loans

-  SalarytInfrastructure-Advertisements
5 % R&D+Transport—Salary

4 % Transport~Interests on Loans+Advertisements

Question Number : 36 Question Id : 7368157510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Arer T IAMH T O J HeTTT ’L%??I%%T—I‘qﬂﬂﬂ-ﬁﬁ?

CAICE:
A R T TS S F o caw F afafa Rawor g §

25

20

15

10
| I
o

E s =4 I =a

FIAT % A AT H AT T FeAtonad A ¥ R R TR Ser 82

Options:

| % FPHEIAFFSA T AT
, JEEEERE greme- e
, » TRNEEA+EHS W AT+

Question Number : 37 Question Id : 7368157511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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A= T ATH & &AM F FeTTA ﬁ%ﬁ%%ﬁﬁﬂﬁﬁ?

CGE B
A G T I FE § T s w1 gl Raver o §

25

20
15
10
| I
L

Err FATI=0A

u%gmm:ms,w,ooo g, a F= W eae A fraetr afr @ Fr oo

Options:

% ¥ 3,24750
, v T 3,23,750
. » ¥ 3,22750

, % ¥ 325750

Question Number : 37 Question Id : 7368157511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The below graph shows the percentage distribution of total expenditure of a
company.

25

20

15

1

o

L

If the total expenditure is Rs.18.50.000, then what amount is spent on Interests on Loans?

Options:
, % Rs.3,24,750

» « Rs.3.23.750
5 % Rs.3.22,750
4 % Rs3.25.750

Question Number : 38 Question Id : 7368157512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The below graph shows the percentage distribution of total expenditure of a

company.
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If the total expenditure 1s Rs.20.50,000, then what amount is spent on Infrastructure?

Options:
. % Rs.4.20.000

» # Rs.4.15.000
5 « Rs.4.10.000
, # Rs.4.05.000

Question Number : 38 Question Id : 7368157512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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25

20
15
10
5
0

A= =9 97 =IE

ofg Fof =7 %. 20,50,000 7, o Foreqd grawmsh w1 fader afr @=r #r 7152

Options:

, % ¥ 4,20,000
, « ¥ 4,15,000

. v ¥ 4,10,000

, « ¥ 4,05,000

Question Number : 39 Question Id : 7368157513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of a square field is ? hectare. Find the length of its diagonal in metres.

Options:
1 ® 50mits

> % 5042 mts
5 % 4042 mfs

4 v 50426 mits

Question Number : 39 Question Id : 7368157513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

wmmmmgmg,mmwaﬁmm
HreT 272

Options:

1 ® 50#1?
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- B s

5 % 4042 HEx

Question Number : 40 Question Id : 7368157514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The area of an equilateral triangle is 63~3c»* Find the length of its side.

Options:
1 #® deom

5> o 5u".'-_'cm

z % 445cm

4 % 5uﬁcm

Question Number : 40 Question Id : 7368157514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U A TAFIUT F &R 63+/3 O WAL g, o SHEN A H FEs AA
cg

Options:

, w4 JAT

. v 67 B
o x 4.45 QAT
4 » 6V3 T

Question Number : 41 Question Id : 7368157515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The diameter of the wheel of a car is 84cm. How many revolutions will it make to travel
7.92km?

Options:

1 % 4600

> % 6000
3 « 3000
4 % 4500

Question Number : 41 Question Id : 7368157515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U R F IedT & =aH 84 WAL gl Traa o 7 7g 7.92 e der &
o JT FEm?
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| % 4600

. % 6000
- « 3000
. = 4500

Question Number : 42 Question Id : 7368157516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A car travels 750km in 12hours and another 950km in 8hours. Find the average speed of
the car.

Options:

1 « 85km/h

> % 75km/h
z % 78km/h
4 % 48km/h

Question Number : 42 Question Id : 7368157516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T FR 12 g€ # 750 faFar Arex 3 8 w2 & 377 950 frar Hex v gt a7
FIAT &1 FR Fr HET T F AT T

Options:

, v 85 A aer
> » 75 TR aer
= » 78 T /e
4 » 48 Ty faer

Question Number : 43 Question Id : 7368157517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A vehicle travels at 30km/h. How many meters will it travel in 30minutes?

Options:
1 #® 17550mts

- % 15700mts
= « 15000mts
4 % 17570mts

Question Number : 43 Question Id : 7368157517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, = 17550 #Hrex
, % 15700 #HeT
5 « 15000 #Hex
, % 17570 #ex

Question Number : 44 Question Id : 7368157518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ashok can cover a certain distance i 3hr 45min by covering two-third of the distance at
4kmph and the rest at Skmph. Find the total distance.

Options:
1 % 16.41km

> o 16.07km
z % 16.52km
4 % 16.6km

Question Number : 44 Question Id : 7368157518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3 v AR g 3 w45 fBee & qf = @ ¥iSwd @ O 4
s mer & 7ifg & 3k 9w 5 Fa/ger & afy ¥ 77 w1 B 59 g 79
Cony

Options:

. % 16.41 TFar Hex
> « 16.07 e #Hrex
- % 16.52 ferarr #reT
4 % 16.6 TFar #Hex

Question Number : 45 Question Id : 7368157519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tma takes 8 lminutes to reach school from home. Sneha takes 45minutes to cover the
same distance. Find the ratio of time taken by Uma to the time taken by Sneha.

Options:
1 ® 3:2

> % 4.9
= 8 23
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Question Number : 45 Question Id : 7368157519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FAT F X @ Fhol T # 81 HAT w9 1 T g & g0 H Q@
F & O 45 ae adr §1 Far 3 = @y O 5w mam @

3T AT F1|

Options:

] & 32
- % 4.9
z ® 2D
4« 95

Question Number : 46 Question Id : 7368157520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Priyanka works in office for 8hours and Jaya works for 6hours 20minutes in her office.
Find the ratio of their working hours.

Options:
1 ® 14:15

- % 15:14
= o 24:19
4 % 16:17

Question Number : 46 Question Id : 7368157520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Broer s FawT ® 8 OT 3T FAT 6 T 20 AT F1F FIAT £l 39% FIH &
T N AT AT <

Options:

% 14:15
,  15:14
2 @ 24:19
L w 16:17

Question Number : 47 Question Id : 7368157521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 1:6. If A completes the
work i 13days. then find the time taken by B to complete the work.

Options:
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e

5 o 18days
5 w 20days
4 = A48days

Question Number : 47 Question Id : 7368157521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A 3R B @RT &7 [ F & fow, o 710 777 #7 399 1:6 8, 7%
A3E FH & 13 &F & 9 a1 &, Ot 35 F1F & QU &= & fov B
FI Fraar gaEg F9Em?

Options:

1. % 52 fet
o v 18 fea
5 20 fea
4.*‘3431%*?

Question Number : 48 Question Id : 7368157522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Nikitha can do a work in 3days and Krithika is 15% more expert than Nikitha to complete
the same work, then find the total time taken to complete the work by Krithika.

Options:

514'&:[1;3
1 ® 2
1

4—days
=% 2

2 # ddayvs
14

2—days
4. 23

Question Number : 48 Question Id : 7368157522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fafrar 3 R & v& 17 @ aF Foar § 3R Fiawr 33 w3 7t &@fFar &
gotelT H 15% SUTET 8T W &Y Hehdll g, af 38 FH 1 U L + v
FiAFT gaRT o a1 For FHAT AT F

Options:

1
wsg‘%?r

1.
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i ® 2

5 ® 4 iEEI
1

4 & 23

Question Number : 49 Question Id : 7368157523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If A can do a piece of work in 4days. B can do the same in 12days and C can do the same
work in 14days. then working together. how many days will they take to complete the
work?
Options:

3¢ 1
4 ® 24days

Question Number : 49 Question Id : 7368157523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T A dRT A T FA N TRTE, BT FHE 6T FINC, 2T A
F HHT &, A 3¢ WUTHAR 37 FH H W FA & o0 Fad G F=rer
Options:
o x 9 oA

22 &=

= o 17

Question Number : 50 Question Id : 7368157524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
45 men can complete a work in 24days. 8days after they started working. 10 more men
joined them. How many days will they now take to complete the remaining work?

Options:

2
6—days
1.% 3
: 5l{fﬂ}'.5'
&8 35
l3idqv.ﬁ'
3¢ 11
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8—days
% 4

Question Number : 50 Question Id : 7368157524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

45 o9 24 oA & T FH F QW F FHhd 2| FH YT F & 8 o A1
374 10 3R R afAe & I 8| 39 7 A e RGF 7 59 F717 #: @
FL?

Options:

2

% Bgﬁ?
1

, 6-f=
1

3.&?135%

1
ﬁagﬁ?r

i

4.

Eriglish Language

Section Id : 736815146

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 32

Number of Questions to be attempted: 32

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815220
Question Shuffling Allowed : No

Question Id : 7368157525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cuesticon Label | Comprehension
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choosing the best option for each:

In the 1920s American research on eugenics {Please see the definition at
the end of the passage.} was so sophisticated that it became the envy of the
Germans. The U.S. Immigration Act of 1924 earned praise from no less
than Hitler in “Mein Kampf.” The nation was swept up in a mania for
gugenics in the 1910s. Part of the obsession was driven by xenophobia
[hatred of foreigners]: Nativists feared that the sudden influx of immigrants
from southermm and Eastern Europe would make thin gruel of hearty
American stock. Eugenicists believed "the character of a nation 1s
determined primarily by its racial qualities: that is the hereditary physical.
mental. and moral or temperamental traits of ifs people.” They hoped
"better breeding” could rid America of its flaws

Henry Goddard, who was also a prominent member of the eugenics
movement, 1s often called the father of American intelligence testing. He
introduced a measurement for it to the United States. At the time,
psychologists lumped people with cognitive disabilities in three broad
categories: "idiot." "imbecile" and "feeble-minded". the last being the least
severe. Goddard thought the label ‘feebleminded’ was imprecise and
unscientific, so he created a replacement.

Borrowing a Greek root meaning "dull" or "foolish." he coined the term
"moron."

Goddard wanted to ensure there were no "morons” among the immigrants.
In 1913. he sent female assistants to Ellis Island —a federal immigration
station — to recognize the "feeble-minded” by sight (women were more
intuitive at this. he thought) and administer his tests. His methods revealed
an astounding result: 40 percent of the Jews, Ifalians and Hungarians tested
qualified as "morons."

The following year deportations for "feeble-mindedness" doubled.

{eugenics -- the science of improving a population by controlled breeding
fo increase the occurrence of desirable heritable characteristics}.

Sub questions

Question Number : 51 Question Id : 7368157526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The most appropriate title for this passage is

Options:

, « RoleofIQ in Eugenics and Immigration Control

> % What Hitler could have leamt from the U.S.A.

- » Keep the morons out: Eugenicists’ Mofto

, » Gate Keeping through Intelligence Tests

Question Number : 52 Question Id : 7368157527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
visit this website studytosuccess.in
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Americans’
Options:
, w imagination and the use of common everyday terms

- % fear of immigrants’ racial origins
- » anxiety about preserving racial purity
4  Tustic way of indicating unwelcome racial intermingling

Question Number : 53 Question Id : 7368157528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first paragraph mentions Hitler and Mein Kampf to
Options:

, % convey the dislike for eugenics

-  Create the intended attitude to eugenics

- % show the real origin of eugenics

, % provide a glimpse into American history

Question Number : 54 Question Id : 7368157529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Goddard coined ‘moron’ as a new term because
Options:

, w he had discovered a new category of ‘dull’ people

> % the earlier term was too specific and unhelpful
-  thenew term helped filter ‘dull’ immigrants better

4, % hewas an eugenicist and not merely a psychologist

Question Number : 55 Question Id : 7368157530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Goddard employed women to isolate the ‘feeble-minded” as
Options:

, % Wwomen hate immigrants more than men

-~ % Wwomen have innate detection powers

= % women are more observant
4  Women’s perception and instinct are infallible

Question Number : 56 Question Id : 7368157531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Goddard’s new term was a successful one because

Options:

, w Itsifted a significant number of ‘morons’ from idiots
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-  the number of deportees increased in the following year

, % amoron could now easily be distinguished from an idiot and an imbecile

Question Number : 57 Question Id : 7368157532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The measurement in intelligence testing introduced by Goddard. mentioned here in the
passage.

Options:

, « Used labels for categories

- % used grades for categories

- » awarded marks and grade-points

4 % awarded percentile scores

Question Number : 58 Question Id : 7368157533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The synonym for ‘sophisticated” as used in the passage is
Options:

1 « advanced

> % refined

= % fashionable

4 % cultured

Question Number : 59 Question Id : 7368157534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A dictionary gives ‘stock’ the following meanings. Choose a meaning of stock that will
not be relevant to the topics discussed in the passage:

Options:
1« stored merchandise

- % the original (as a person. race, or language) from which others derive :

% % astem in which a bud or shoot is inserted.

4 % the trunk of a tree

Question Number : 60 Question Id : 7368157535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the antonym of influx:

Options:
1 % outflow

> o exodus
- u drainage

4 % loss
visit this website studytosuccess.in
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Question Id : 7368157525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cuesticon Label | Comprehension
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by choosing the best option for each:

In the 1920s American research on eugenics {Flease see the
definition at the end of the passage.} was so sophisticated that it
became the envy of the Germans. The U.S. Immigration Act of 1924
earned praise from no less than Hitler in “Mein Kampf.” The nation
was swept up in a mania for eugenics in the 1910s. Part of the
obsession was driven by xenophobia [hatred of foreigners]: Nativists
feared that the sudden influx of immigrants from southern and Eastern
Europe would make thin gruel of hearty American stock. Eugenicists
believed "the character of a nation is determined primarily by its racial
qualities; that is the hereditary physical, mental, and moral or
temperamental traits of its people." They hoped "better breeding" could

rid America of its flaws.

Henry Goddard, who was also a prominent member of the eugenics
movement, is often called the father of American intelligence testing.
He introduced a measurement for it to the United States. At the time,
psychologists lumped people with cognitive disabilities in three broad
categories: "idiot," "imbecile" and "feeble-minded", the last being the
least severe. Goddard thought the label ‘feebleminded’ was imprecise

and unscientific, so he created a replacement.

Borrowing a Greek root meaning "dull" or "foolish," he coined the term
"moron."

Goddard wanted to ensure there were no "morons" among the
immigrants. In 1913, he sent female assistants to Ellis Island -a
federal immigration station - to recognize the "feeble-minded" by sight
(women were more intuitive at this, he thought) and administer his
tests. His methods revealed an astounding result: 40 percent of the

Jews, ltalians and Hungarians tested qualified as "morons."
The following year deportations for "feeble-mindedness" doubled.

{eugenics -- the science of improving a population by controlled
breeding to increase the occurrence of desirable heritable

characteristics}. visit this website studytosuccess.in
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Question Number : 51 Question Id : 7368157526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The most appropriate title for this passage is
Options:

, « Role of 1Q in Eugenics and Immigration Control

- % What Hitler could have learnt from the U.S.A.

- » Keep the morons out: Eugenicists’ Motto

, » Gate Keeping through Intelligence Tests

Question Number : 52 Question Id : 7368157527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“...make thin gruel of hearty American stock™ in paragraph1 is used to

capture Americans’
Options:
, = Imagination and the use of common everyday terms

. » fear of immigrants’ racial origins
- » anxiety about preserving racial purity

4,  Tustic way of indicating unwelcome racial intermingling

Question Number : 53 Question Id : 7368157528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first paragraph mentions Hitler and Mein Kampf to
Options:

, = convey the dislike for eugenics

.  create the intended attitude to eugenics

- » show the real origin of eugenics

, » provide a glimpse into American history

Question Number : 54 Question Id : 7368157529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Goddard coined ‘moron’ as a new term because
Options:

, » he had discovered a new category of ‘dull’ people

. » the earlier term was too specific and unhelpful

-  the new term helped filter ‘dull’ immigrants better

, » he was an eugenicist and not merely a psychologist

Question Number : 55 Question Id : 7368157530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 025 visit this website studytosuccess.in
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Options:
, %= women hate immigrants more than men

, » women have innate detection powers

= % women are more observant

4 v Women's perception and instinct are infallible

Question Number : 56 Question Id : 7368157531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Goddard's new term was a successful one because
Options:

, = it sifted a significant number of ‘morons’ from idiots

. » the American immigration department accepted it
-  the number of deportees increased in the following year

4 » a moron could now easily be distinguished from an idiot and an imbecile

Question Number : 57 Question Id : 7368157532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The measurement in intelligence testing introduced by Goddard, mentioned
here in the passage,

Options:

,  used labels for categories

., » used grades for categories

- » awarded marks and grade-points

, » awarded percentile scores

Question Number : 58 Question Id : 7368157533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The synonym for ‘sophisticated’ as used in the passage is

Options:

1 « advanced
> % refined

= = fashionable

4 % cultured

Question Number : 59 Question Id : 7368157534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A dictionary gives ‘stock’ the following meanings. Choose a meaning of
stock that will not be relevant to the topics discussed in the passage:

Options: visit this website studytosuccess.in
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, » the original (as a person, race, or language) from which others derive:

=z % a stem in which a bud or shoot is inserted

4 % the trunk of a tree

Question Number : 60 Question Id : 7368157535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the antonym of influx:

Options:
1 = outflow

> « exodus
- » drainage

4 % loss

Sub-Section Number: 2
Sub-Section Id: 736815221
Question Shuffling Allowed : No

Question Id : 7368157536 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)

Juestion Label : Comprehension
Given below is a passage with ten blanks. numbered from 11 to 20. Fill in the blanks by
choosing the correct option given against the corresponding question number:

The Chinese belief in ghosts was heavily influenced by their practice of ancestor worship
and the belief that the departed continued to exert a powerful influence on people's lives.
As in the other cultures. the spirits of the (11) could benefit the living unless
there had been (12) in burial or funeral rites: they could (13) the
dispensation from heaven to return to right a (14)! The Ghost Festival. to honour
and appease the (15), continues to be held on the fifteenth day (16) the
seventh month of the year. Known as the "Ghost Month". this (17) 1s thought to
be when the (18) between the realm of the living and that of the dead is thinnest and
the dead can (19) cross over. During the Ghost Festival. people leave out food
and gifts for the dead to (20) and honour them in the hope that they will remain
in their own realm and not trouble the living.

Sub questions

Question Number : 61 Question Id : 7368157537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:;

Options:

1 % ancestors

visit this website studytosuccess.in
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&

5 % living

4 « dead

Question Number : 62 Question Id : 7368157538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

;& Joy

o « impropriety
5 % development
4 % civility

Question Number : 63 Question Id : 7368157539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:;

Options:

1 % be

> « have

z % has
4 % are

Question Number : 64 Question Id : 7368157540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

1 ¥ WIOINE

> % left

5 % 1mnistake

4 % Speech

Question Number : 65 Question Id : 7368157541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

, « departed

> g living

5 x greedy

visit this website studytosuccess.in
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Question Number : 66 Question Id : 7368157542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

1 % off

- o of

S_Wiﬂ

4 % DY

Question Number : 67 Question Id : 7368157543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:

Options:

1 % moment

- % hour
3 % second

4 « time

Question Number : 68 Question Id : 7368157544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:;

Options:

1« Vveil

o % Wrap

= % coat

4 % Visor

Question Number : 69 Question Id : 7368157545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding question
number:;

Options:

o casily

% Dbadly

1

2.

- % honestly

4 % Justly

Question Number : 70 Question Id : 7368157546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 - . . .
visit this website studytosuccess.in
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number:
Options:
| « appease

- % mend
3 % imvitate

4 % inflame

Question Id : 7368157536 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cuesticon Label | Comprehension

Given below is a passage with ten blanks, numbered from 11 to 20. Fill
in the blanks by choosing the correct option given against the

corresponding question number:

The Chinese belief in ghosts was heavily influenced by their practice of
ancestor worship and the belief that the departed continued to exert a
powerful influence on people's lives. As in the other cultures, the spirits of
the (11) could benefit the living unless there had been

(12) in burial or funeral rites; they could (13) the

dispensation from heaven to return toright a =~ (14)! The Ghost
Festival, to honour and appease the (15), continues to be held
on the fifteenth day (16) the seventh month of the year. Known
as the "Ghost Month", this (17) is thought to be when the
(18) between the realm of the living and that of the dead is thinnest and
the dead can (19) cross over. During the Ghost Festival, people
leave out food and gifts for the dead to (20) and honour them
in the hope that they will remain in their own realm and not trouble the
living.

Sub questions

Question Number : 61 Question Id : 7368157537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding guestion number:
Options:
1 % ancestors
> % elders
visit this website studytosuccess.in
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3.

4 « dead

Question Number : 62 Question Id : 7368157538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding guestion number:

Options:

, = Joy

-  Impropriety

- » development

4 w Civility

Question Number : 63 Question Id : 7368157539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:
Options:

1 ® be

> « have

=z # has
4 % are

Question Number : 64 Question Id : 7368157540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:

Options:

. Wrong

o left
= # mMmistake

, » Speech

Question Number : 65 Question Id : 7368157541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the
corresponding question number:

Options:
,  departed

> w living
' visit this website studytosuccess.in
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3.
4 #% sad

Question Number : 66 Question Id : 7368157542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the
corresponding guestion number:

Options:
1 ® off

4 % DY

Question Number : 67 Question Id : 7368157543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding question number:

Options:

1 % moment

- % hour

= % second

4 « lime

Question Number : 68 Question Id : 7368157544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding question number:

Options:

1« veil

o, % Wrap

- % coat

4 ® Visor

Question Number : 69 Question Id : 7368157545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding guestion number:

Options:

| €asily

-, » badly

visit this website studytosuccess.in
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- x honestly

4 w Justly

Question Number : 70 Question Id : 7368157546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding question number:

Options:

. appease

- % mend
= % Irritate

4 % Inflame

Sub-Section Number: 3
Sub-Section Id: 736815222
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368157547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. On December 25th, some three years after taking over as China’s leader. Xi Jinping
posted his first tweet.

2. For a man clearly rattled by the rapid spread of social media. and grimly determined

to tame them, the venue was fitting.

His new-year greeting was not to China’s more than 660m internet users, but to the

armed forces—most of whose members are banned from tweeting.

4. Mr. Xi Jinping is the first Chinese leader to come to power amid the rapid growth of

a middle class.a majority of whom are net-savvy.

Uniformed military officials stood around as he typed his message into a computer

in the office of an army-run newspaper.

LS

Ln

Options:
, % 53241

o> » 4.5,13.2
2 o 1,52,3

4 % 41532

Question Number : 71 Question Id : 7368157547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

visit this website studytosuccess.in
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in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful:

1. On December 25th, some three years after taking over as China’s
leader, Xi Jinping posted his first tweet.

2. For a man clearly rattled by the rapid spread of social media, and
grimly determined to tame them, the venue was fitting.

3. His new-year greeting was not to China’'s more than 660m internet
users, but to the armed forces—most of whose members are banned
from tweeting.

4. Mr. Xi Jinping is the first Chinese leader to come to power amid the
rapid growth of a middle class, a majority of whom are net-savvy.

5. Uniformed military officials stood around as he typed his message

into a computer in the office of an army-run newspaper.
Options:

,u BB2A
sou ABTE2
o AN 523
wu 21532

Question Number : 72 Question Id : 7368157548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. Diners sit in a gloomy, yet magnificent 500 sq metre storehouse; with gridded

concrete ceilings and brick walls, eating on long communal tables on mismatched

furniture.

Eight professional chefs volunteer throughout the week, cooking up leftover food

collected from Rungis. a huge wholesale food market on the outskirts of the city.

3. Paris isn’t the kind of city vou associate with vegan food but “zero waste” canteen
Freegan Pony. which opened last year. is there to challenge expectations.

4. The menu changes daily, based on the food the team can find and though it couldn’t

be further from your typical Parisian bistro.

The restaurant was conceived by 32-year-old Aladdin Charni and brought to life

with the help of a group of volunteers. all focused on raising awareness about food

waste.

Options:

-

]
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1 & 2.2.=.1.

, % 3.2.54.1
5 o 3:5.24.1

4 % 34512

Question Number : 72 Question Id : 7368157548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5, which are not

in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful:

1. Diners sit in a gloomy, yet magnificent 500 sq metre storehouse; with
gridded concrete ceilings and brick walls, eating on long communal
tables on mismatched furniture.

2. Eight professional chefs volunteer throughout the week, cooking up
leftover food collected from ARungis, a huge wholesale food market
on the outskirts of the city.

3. Paris isn’t the kind of city you associate with vegan food but “zero

waste” canteen Freegan Pony, which opened last year, is there to

challenge expectations.

4. The menu changes daily, based on the food the team can find and
though it couldn’t be further from your typical Parisian bistro.

5. The restaurant was conceived by 32-year-old Aladdin Charni and
brought to life with the help of a group of volunteers, all focused on

raising awareness about food waste.

Options:
. w 35214

ooz G2 B4
.« 3,524,
ww SAS 12

Question Number : 73 Question Id : 7368157549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in
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order. Choose from the options given. the order which will be acceptable and meaningful:

1. And when a teacher is confronted with a large class of widely varying abilities,
inferests and needs, no other testing instrument insures more consistency and
permits more free time to work with individual students and parents.

2, When a teacher wants to assess a student's grasp of all the topics covered in a
semester or a school year, there is no more practical, comprehensive measure
than a multiple-choice review.

3 We must never reach the point where a student's classroom grade. college or
graduate future depends solely on standardized testing.

4, Not all multiple-choice tests at the elementary or secondary level approach the
thoroughly researched national examinations for which I've been preparing
students for the last 50 vears.

5. When hundreds of thousands of applicants from high schools with diverse
standards and grading systems apply to college, there is no fairer, more efficient
way of measuring their performance than a standardized test.

Options:

% 51,243
5 o 5.2.14.3
s % 5.2.134

4 4337

Question Number : 73 Question Id : 7368157549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below™is a set of five sentences, numbered "1 to which are

not in a meaningful order. Choose from the options given, the order

which will be acceptable and meaningful:

1. And when a teacher is confronted with a large class of widely
varying abilities, interests and needs, no other testing
instrument insures more consistency and permits more free
time to work with individual students and parents.

2. When a teacher wants to assess a student's grasp of all the
topics covered in a semester or a school year, there is no
more practical, comprehensive measure than a multiple-choice
review.

3. We must never reach the point where a student's classroom
grade, college or graduate future depends solely on
standardized testing.

4.  Not all multiple-choice tests at the elementary or secondary
level approach the thoroughly researched national
examinations for which I've been preparing students for the
last 50 years.

5.  When hundreds of thousands of applicants from high schools
with diverse standards and grading systems apply to college,
there is no fairer, more efficient way of measuring their
performance than a standardized test.

Options:

. w BA243
, v 52143
.= 52134
ou BAES D

Question Number : 74 Question Id : 7368157550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Choose the right order from the given options:

hell/ good / is paved with / to / intentions / the road
1 2 3 4 - 6

Options:

1 % 6.1.4.3.2,

L

L

» o 64,132,

L

5 x 643,12,
4 % 64135

12

Question Number : 74 Question Id : 7368157550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a famous saying, the words of which have been jumbled

up and numbered. Choose the right order from the given options:

hell / good / is paved with / to / intentions / the road
1 2 3 4 o 6

Options:

. % 614,325
, v 64,1325
. % 643,125
. % 64,1352

Question Number : 75 Question Id : 7368157551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

thinking about / a good listener / something else / is usually
1 2 3 4

Options:
| % 2341

> u 4.3.2.1
5 x 1234
gt 213

Question Number : 75 Question Id : 7368157551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
visit this website studytosuccess.in
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up and numbered. Choose the right order from the given options:

thinking about / a good listener / something else / is usually
1 2 3 4

Options:

w2344
o HBEY
wx 1234
ieh 243

Question Number : 76 Question Id : 7368157552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Leaving much before the scheduled time, many passengers missed the train.
Options:
. w Asthe train has left much before the scheduled time. many passengers missed it.

> % As the train had left much before the scheduled time. many passengers missed it.
5  Leaving much before the scheduled time. the train left behind many passengers.

, % Leaving much before the scheduled time. many passengers had to miss the train.

Question Number : 76 Question Id : 7368157552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Leaving much before the scheduled time, many passengers missed the

train.
Options:
As the train has left much before the scheduled time, many passengers

1 ® missed it.
As the train had left much before the scheduled time, many passengers
- % missed it
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5 o passengers.

Leaving much before the scheduled time, many passengers had to miss

4 % the train.

Question Number : 77 Question Id : 7368157553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

The average North American consumes more than 400 Africans.
Options:

, w The average North American devours more than 400 Africans.

5 of The average North American consumes more than 400 Africans do.

- % Theaverage North American consumers are more than 400 Africans.

, % Theaverage North American consumes 400 Africans.

Question Number : 77 Question Id : 7368157553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the
sentence. Choose the one which improves the given sentence:

The average North American consumes more than 400 Africans.
Options:
, » The average North American devours more than 400 Africans.

-  The average North American consumes more than 400 Africans do.
- » Ihe average North American consumers are more than 400 Africans.

4, » The average North American consumes 400 Africans.

Question Number : 78 Question Id : 7368157554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Night-time temperatures has shown them to be sensitive to climate change.

Options:
visit this website studytosuccess.in
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- % Night-time temperatures has shown themselves to be sensitive to climate change.

3 o Night-time temperatures have shown themselves to be sensitive to climate change.

4 % Night-time temperatures have shown they to be sensitive to climatic change.

Question Number : 78 Question Id : 7368157554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Night-time temperatures has shown them to be sensitive to climate

change.
Options:
, = Night-time temperature has shown them to be sensitive to climate change.

Night-time temperatures has shown themselves to be sensitive to climate

, » change.

Night-time temperatures have shown themselves to be sensitive to climate

5 « Change.

Night-time temperatures have shown they to be sensitive to climatic

4 % change.

Question Number : 79 Question Id : 7368157555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Too much or too little sleep linked with an increasingly risk of certain types of
cardiovascular disease.
Options:
Too much or too little sleep is linked with an increased risks of certain type of
1 % cardiovascular diseases.

Too much or too little sleep is linked with an increased risk of certain types of
- % cardiovascular disease.

Too much or too little sleep is linked with an increasingly risk of certain types of
= % cardiovascular diseases.
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4 « cardiovascular dlseases.

Question Number : 79 Question Id : 7368157555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Too much or too little sleep linked with an increasingly risk of certain

types of cardiovascular disease.
Options:

Too much or too little sleep is linked with an increased risks of
; = certain type of cardiovascular diseases.

Too much or too little sleep is linked with an increased risk of certain

. » types of cardiovascular disease.

Too much or too little sleep is linked with an increasingly risk of certain

- » types of cardiovascular diseases.

Too much or too little sleep is linked with an increased risk of certain

4 « types of cardiovascular diseases.

Question Number : 80 Question Id : 7368157556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Emergency room of hospitals are overwhelmed by noninsured patients seek basis
medical care.

Options:
Emergency room of hospitals are overwhelmed by uninsured patients seeking basic
1 % medical care.

Emergency rooms of hospitals are overwhelmed by uninsured patients seeking basic
~ « medical care.

Emergency rooms of hospitals are overwhelmed by noninsured patients seeking basic
3 % medical care.

Emergency rooms of hospital are overwhelmed by uninsured patients seeking basis
4 % medical care.
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is an ungrammatical, defective, sentence and there are 4
options given. One of them is the correct and improved form of the
sentence. Choose the one which improves the given sentence:

Emergency room of hospitals are overwhelmed by noninsured patients

seek basis medical care.
Options:
Emergency room of hospitals are overwhelmed by uninsured patients

, = seeking basic medical care.

Emergency rooms of hospitals are overwhelmed by uninsured patients

.  Seeking basic medical care.

Emergency rooms of hospitals are overwhelmed by noninsured patients

- » Seeking basic medical care.

Emergency rooms of hospital are overwhelmed by uninsured patients

4 % seeking basis medical care.

Question Number : 81 Question Id : 7368157557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

The Masai Mara remains one of the major tourist attractions in Kenyva.
{Ask a question which will get the highlighted phrase as its answer.}

Options:
, % Where remains one of the major tourist attractions in Kenya?

-  Which does remain as one of the major tourist attractions in Kenya?

- % Whom remains as one of the major tourist attractions in Kenya?

4 % Why does the Masai Mara remain as one of the major tourist attractions in Kenya?

Question Number : 81 Question Id : 7368157557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

The Masai Mara remains one of the major tourist attractions in Kenya.

{Ask a question which will get the highlighted phrase as its answer.}

Options:
, » Where remains one of the major tourist attractions in Kenya?

>  Which does remain as one of the major tourist attractions in Kenya?

- » Whom remains as one of the major tourist attractions in Kenya?

Why does the Masai Mara remain as one of the major tourist attractions

4 » In Kenya?

Question Number : 82 Question Id : 7368157558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the

given sentence :

Technology is plaving an increasing role in helping professional athletes.
{Into passive voice}

Options:

, % Anincreasing role in helping professional athletes are placed by technology.

- w Anincreasing role in helping professional athletes is played by technology.

- % Anincreasing role in helping professional athletes are being played by technology.
4  Anincreasing role in helping professional athletes is being played by technology.

Question Number : 82 Question Id : 7368157558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

Technology is playing an increasing role in helping professional

athletes. {Into passive voice}
Options:
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, = technology.
., » An increasing role in helping professional athletes is played by technology.

An increasing role in helping professional athletes are being played by

- » technology.

An increasing role in helping professional athletes is being played by

4  technology.

Question Number : 83 Question Id : 7368157559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

What we eat affects our moods as much as our body shape. {As simple sentences}
Options:
. « What we eat affects our moods. It also affects our body shape.

> % What we eat affects our moods. It also does our body shape.
- % What we eat affects our moods. They also affect our body shape.

4 % What we eat affects our moods: They do our body shape too.

Question Number : 83 Question Id : 7368157559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

What we eat affects our moods as much as our body shape. {As

simple sentences}

Options:
. v What we eat affects our moods. It also affects our body shape.

. » What we eat affects our moods. It also does our body shape.

- » What we eat affects our moods. They also affect our body shape.

4 » What we eat affects our moods; They do our body shape too.

Question Number : 84 Question Id : 7368157560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25 . . . . .
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Choose the appropriate substitutes for the phrases and clauses ifalicized:

He 1s a virtual . a book that contains information on various
subjects

Options:
, % dictionary

-  encyclopaedia

z % thesaurus

4 % Dbible

Question Number : 84 Question Id : 7368157560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words / phrases /

segments in ftalics. Choose the appropriate substitutes for the phrases

and clauses Jjtalicized

He is a virtual . a book that contains information on

various subjects
Options:

, = dictionary

.  €ncyclopaedia

= % thesaurus
4 % bible

Question Number : 85 Question Id : 7368157561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Read the sentence given below. Pay attention to the words / phrases / segments in ffalics.
Choose the appropriate substitutes for the phrases and clauses italicized:

The working lady put her child in a nursery where children are cared for while their
parents are at work.

Options:
1 « creche

- % school
5 % kindergarten

4 % convent

Question Number : 85 Question Id : 7368157561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Read the sentence given below. Pay attention to the words / phrases /
segments in ftalics. Choose the appropriate substitutes for the phrases

and clauses Jjtalicized

The working lady put her child in a nursery where children are cared for

while their parents are at work.
Options:

| « Créche

- % school

- » Kindergarten

4 % convent

Question Number : 86 Question Id : 7368157562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A. B, C. and D. One of
these parts contains an error. Choose the part that has the error:

Money is / a powerful force only / when there's huge / number of it.
A B C D

Options:
1 ® A

E_QB
3. % C
4. ¢ D

Question Number : 86 Question Id : 7368157562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A, B, C,

and D. One of these parts contains an error. Choose the part that has

the error:

Money is / a powerful force only / when there's huge / number of it.
A B C D

Options:

1 & A
o W B
T W C

4 v D
visit this website studytosuccess.in
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Question Number : 87 Question Id : 7368157563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A. B, C, and D. One of
these parts contains an error. Choose the part that has the error:

Learned women / are ridiculed / though theyv put to shame / unlearned men.
A B C D

Options:
1 #® A

E_WB
3¢ C
4 % D

Question Number : 87 Question Id : 7368157563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A, B, C,

and D. One of these parts contains an error. Choose the part that has

the error:

Learned women / are ridiculed / though they put to shame / unlearned men.
A B C D

Options:

1% A
E_RB

3¢ C
4 % D

Question Number : 88 Question Id : 7368157564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled A. B. C. and D. One of
these parts contains an error. Choose the part that has the error:

The safest wayv/ to double vour moneyv is/ to fold it under / and put it in vour pocket.
A B C D

Options:
1 & A

E_QB

z ¢ C
4 % D
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is a sentence which divided into four parts labelled A, B,
C, and D. One of these parts contains an error. Choose the part that

has the ermor:

The safest way/to double your money is/to fold it under/and put it in your pocket.
A B C D

Options:

1_%#\
2.%5

z« C
4 % D

Question Number : 89 Question Id : 7368157565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given :

Already a bones, she turned sheet when she heard the bad news.
Options:

,  bagof: white as a

> % Cclutch ofi red as a

- % group of: blueasa

4 % packet of: blank as a

Question Number : 89 Question Id : 7368157565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given:

Already a bones, she turned sheet when she

heard the bad news.
Options:
. bag of; white as a

- » Clutch of; red as a
- % group of; blue as a

4 » packet of; blank as a
visit this website studytosuccess.in
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Question Number : 90 Question Id : 7368157566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given :

He was not only but he was used to making claims that

Options:
, w aneye on the face: he was an ear on the face

- % aleginthe team: he was the boots of the team.

- % afoolin his head: his head was designed especially for him.

4  apainin the neck: didn’t have a leg to stand on.

Question Number : 90 Question Id : 7368157566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given :

He was not only but he was used to making

claims that A

Options:
, = an eye on the face; he was an ear on the face

. % a leg in the team; he was the boots of the team.

- » a fool in his head; his head was designed especially for him.

4 @ pain in the neck; didn't have a leg to stand on.

Question Number : 91 Question Id : 7368157567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

One’s are what one is, one’s is what one becomes.

Options:
|  eyesimouth

» % facenose
5 ® €ars; gar-rings

4 % nose; moustache
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that
will fill in the blanks:

One’s are what one is, one’s is what one

becomes.
Options:

| « €yes; mouth

- » face; nose
. w €ars; ear-rings
4, = hose; moustache

Question Number : 92 Question Id : 7368157568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

If you’d know the value of . 20 and SOINeE.

Options:
, » friends: find

5 % mother: see
o o IOney: borrow

4 % time: lend

Question Number : 92 Question Id : 7368157568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks:

If you’d know the value of , go and some.

Options:

, » friends; find
- = Mmother; see
-  Mmoney; borrow

4 % time; lend

Question Number : 93 Question Id : 7368157569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
SingleLine Question Option : No Opypgitr eRPdolv&B8ite studytosuccess.in
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A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Compose
Options:

1 « Write
- % Soothe

- w Allay

4 % Cool

Question Number : 93 Question Id : 7368157569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Compose
Options:
1 « Write

> % Soothe

- » Allay

4 ® Cool

Question Number : 94 Question Id : 7368157570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Barren
Options:
1 « Arid

5 % Ravage
5 % vapid

4 % Clear

Question Number : 94 Question Id : 7368157570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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{synonym}. Pay attention to how the word would be used to, if required:

Barren
Options:

1 « Arid
. » Ravage
- » Vapid

4 # Clear

Question Number : 95 Question Id : 7368157571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Coarse

Options:
1 & Dull

- % Cruel
= « Indelicate

4 % Underdone

Question Number : 95 Question Id : 7368157571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Coarse
Options:

1 % Dull
> % Cruel
= « Indelicate

4 % Underdone

Question Number : 96 Question Id : 7368157572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonymj} of the key word:

Conflict

Options: visit this website studytosuccess.in
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5 of Harmony

3 % Yield
4 % Permanence

Question Number : 96 Question Id : 7368157572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Conflict
Options:
1 % Serene

.  Harmony

-« Yield

4 % Permanence

Question Number : 97 Question Id : 7368157573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Accurate
Options:
| v Approximate

- % Immoral

- % Bogus

4 % Mistaken

Question Number : 97 Question Id : 7368157573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Accurate
Options:
. « Approximate

> % Immoral

- » DBogus
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4 % Mistaken

Question Number : 98 Question Id : 7368157574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the

word that has been spelled wrongly.
Options:
, w Angular

> « Anular

- » Burglar

4 % Jocular

Question Number : 98 Question Id : 7368157574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled
wrongly. Choose the word that has been spelled wrongly.

Options:
, = Angular

> « Anular

- » Burglar

4 # Jocular

Question Number : 99 Question Id : 7368157575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled

wrongly. Choose the word that has been spelled wrongly.
Options:

1 « Diviance

> % Distance

- » Elegance

4 % Entrance

Question Number : 99 Question Id : 7368157575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.
Options:
1 « Diviance
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- w Elegance

4 % Entrance

Question Number : 100 Question Id : 7368157576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the CORRECT spelling:

Options:
1 # Corect

» « Direct
= % Resurect
4 % Errect

Question Number : 100 Question Id : 7368157576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the CORRECT

spelling.
Options:
1 ® Corect

> « Direct

z % Resurect

4 % Errect
Ceneral Intelligence

Section Id : 736815147
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 736815223
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7368157577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Following are the conditions for selecting coordinator for a training programmer on Labor
Relations. The candidate must:

A. Be a post-graduate in Psychology or in Personnel Management

B. Have worked as Personnel Manager in an organization for at least 10 years or been
teaching in a university/an mstitute for at least 6 years

C. Have worked as guest speaker in similar programme

D. Not be less than 40 years as on 1st April. 1994.

The case of candidate who satisfies all the conditions except:

I. at B above but has obtained Ph.D in one of the fields A and has at least 5 years work
experience of 3 years experience should be referred to Deputy Director

II. at C above but has more than 7 years teaching experience should be referred to Director
III. at D above but has working experience of at least 5 years in an American company
may be selected.

These cases are given to you as on 1st April. 1994,

Q: Pushpa Osha is Ph.D in Personnel Management and has been teaching in an Institute
for last 10 years. She has worked as a guest speaker in a similar programme and was born
on 26th Aug. 1951.

Options:
1 % Refer to Director

- % Refer to Deputy Director

=z % Do not select

4+ Do nothing

Question Number : 101 Question Id : 7368157577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 102 Question Id : 7368157578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Following are the conditions for selecting coordinator for a training programmer on Labor
Relations. The candidate must:

A. Be a post-graduate in Psychology or in Personnel Management

B. Have worked as Personnel Manager in an organization for at least 10 years or been
teaching in a university/an mstitute for at least 6 years

C. Have worked as guest speaker in similar programme

D. Not be less than 40 years as on 1st April. 1994.

The case of candidate who satisfies all the conditions except:

I. at B above but has obtained Ph.D in one of the fields A and has at least 5 years work
experience of 3 years experience should be referred to Deputy Director

II. at C above but has more than 7 years teaching experience should be referred to Director
III. at D above but has working experience of at least 5 years in an American company
may be selected.

These cases are given to you as on 1st April. 1994,

Q: Sushree Sangita is a post-graduate in Psychology and has been teaching for last 15
years. She has not worked as guest spealker in similar programmes in the past.

Options:

, « Datainadequate
> % Select

=z % Refer to Director

4 % Don’t select

Question Number : 102 Question Id ;: 7368157578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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A. AAITEATT & 0 F1fAF 9997 H THTTFIcay 21 =iev]

B. FdT Werew # FfAw geus & Alr X 10 | 3T ar e
FEaEATT H 6 A U T 37T AT T30

C. A FUsH 7 #fafr soar & &7 7 F17 GFar 7

D. 1 313 1994, 9% 40 99 & FH 37 AT &1
TSI F 3 ordl & HiaNFa FrAfaf@a odisr off & ggse F3a
EIEN

|. 3 & 7T B e A H © FRET off v & & dro=nsn giffer &1 2,
30 39 HIES F 9TH ST A0

Il. 39X T 710 C TXeq 7 HT & SAET & AV Hgea o Pufa A
T & 9T ST A0

ll. 9% & 1T D Weg 3ATH FI6 F FH § A 5 T & FAgsa
#r afa & 38 =7 50

Q: g Fear FATSAE A Faeica? § AR Brod 15 91 § 98T W@ &l
e SH YN & FAFAT H ST IFaT & 9 H S a7 5T g

Options:

Y
| v HIOTT RN

TAT AT

o ® 2

s % TICF & UTH ST AT
, AT @I ST
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Following are the conditions for selecting coordinator for a training programmer on Labor
Relations. The candidate must:

A. Be a post-graduate in Psychology or in Personnel Management

B. Have worked as Personnel Manager in an organization for at least 10 years or been
teaching in a university/an mstitute for at least 6 years

C. Have worked as guest speaker in similar programme

D. Not be less than 40 years as on 1st April. 1994.

The case of candidate who satisfies all the conditions except:

I. at B above but has obtained Ph.D in one of the fields A and has at least 5 years work
experience of 3 years experience should be referred to Deputy Director

II. at C above but has more than 7 years teaching experience should be referred to Director
III. at D above but has working experience of at least 5 years in an American company
may be selected.

These cases are given to you as on 1st April. 1994,

Q: Abhishek Sinha is Ph.D in Psychology and has been working in an organization for last
6 years as a Personnel Manager and has worked as guest speaker in similar programmes in
the past. His date of birth is 27th June, 1952.

Options:
1 % Refer to Director

> % Select

-  Refer to Deputy Director

4 % Don’t select

Question Number : 103 Question Id : 7368157579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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T H 6 AT T2 T 3T AT 03T

C. §AT FEFH H JafY IFar F &7 7 F1T Far @

D. 1 3149 1994, 9% 40 I¥ § FH 37 T &
TSI F 5 ol & HiaNFd FrAfaf@a odtwr off & agse F3a
=R

|. 397 & 317 B 93w A # ¥ TordT off T & & qro= s it & &,
3IW 39 HETEF & 9H ST A0

Il. 39% fGT 317 C Weq 7 W ¥ ST & A si7 for frufa &
=T+ & 9TH ST A0

ll. 9% f&& 717 D Weg FATH FI60 T FF A 5 T & Fagsis
&1 frufa # 39 =m S0

T Teft FAFFIAT AT 1 AT 1994 F weF FH TR F

Q: ¥THYwF TegT = AATTAT H fiv=asy 1 £ 03 T T84T & oo 6
Tl & Tk FAF T & FT H FAT g 3HT gga off 0 91 &
FEFAT A A FFAT & T A o F FT I @ 3T FeATAT 27

= 1952 &
Options:
| x T F U 8
L x I ST
. v 39 s F 9w 89
ok IAT FEI AT
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Following are the conditions for selecting coordinator for a training programmer on Labor
Relations. The candidate must:

A. Be a post-graduate in Psychology or in Personnel Management

B. Have worked as Personnel Manager in an organization for at least 10 years or been
teaching in a university/an mstitute for at least 6 years

C. Have worked as guest speaker in similar programme

D. Not be less than 40 years as on 1st April. 1994.

The case of candidate who satisfies all the conditions except:

I. at B above but has obtained Ph.D in one of the fields A and has at least 5 years work
experience of 3 years experience should be referred to Deputy Director

II. at C above but has more than 7 years teaching experience should be referred to Director
III. at D above but has working experience of at least 5 years in an American company
may be selected.

These cases are given to you as on 1st April. 1994,

Q: Pulkit Samrat is a Post-graduate in Personnel Management and was born on 15th Jan.
1950. He has been working in a company for the last 12 years as Personnel Manager.

Options:
1 % Refer to Director

- % Refer to Deputy Director

3z % Select

4  Donothing

Question Number : 104 Question Id : 7368157580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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EURY
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38 39 HIES & 9TH ST A0
Il. 3 GT 7T C Weq 7 I § AT & e 3T o Trufa &

TS & 9TH ST F1T)

lll. 9T & 31T D Weg FAIS F9AT H FH T FH 5 A & HARAS

&1 feufa & 3@ == S0
T geft FFFIRAT AT 1 34 1994 Fr g Fr 713 T
Q: qafHd WA FITHF J90d H FAGHIcal 8 T A FeH 15 FFAad

1950 T g3 3 TF Fueit & Tyoel 12 Frell & FHiAs J99 & & H

FRT 2
Options:

.« = & 9F #ST A

. % 39 f@cus & 9w &= Av

. =ldAT SATT
=z ® 2

do '=IJ‘='E.‘5‘~ Hol ohy

Question Number : 105 Question Id : 7368157581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: Private jobs in rural areas have more reward and incentive system?

Argument 1: Rewards and incentives are essential for attracting people there.

Argument 2: Rural areas are already cheaper. hence no requirement of rewards and other
incentives.
Options:

| Argument 1 is strong
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- » DBoththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 105 Question Id : 7368157581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FUT: AAT & FH A AFREAr 7 WEER HR ewed Joner SamEr g gl

FF 1: F@ W [ESR 3R Fches del F JHNa i & o HaeTwF g

T 2: AMHT &7 IF W & TS § FAAT [WEFR AN 37 Giclga H e
ST e 2

Options:

o TH 13WE

. x OB 23FE

5 % Gl o 3§

L« FE T O @ Ad

Question Number : 106 Question Id : 7368157582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: Information Technology should be made a compulsory subject for all the
students in school?

Argument 1: We need not follow Western practice.
Argument 2: We cannot compete in the society without equipping our children with
knowledge of IT.

Options:
L % Argument 1 1s strong

: 7 ie wtr
5 o Argument 1 1s strong
- u Both the Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 106 Question Id : 7368157582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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e 1: g5 9TTHT ¥IaT F 9T i T TG Tl ¢
e 2: 89 AT H 9aT9uT a9 d Jal &{ HFhd 9 d% gH 39 g== &r
HE.E. FT T AF Fer & 31

Options:

, x 9 13WE

o TR 2ITE

= ® Wﬂé?alq’%

, « FIE o TF o A &

Question Number : 107 Question Id : 7368157583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FUA: Thdl Wﬂﬁmﬁmmﬂmﬁ?ﬁﬁ#
e 1: HF IRERT # FI&T H1 HOF Ad=Aar g g

T 2: el TNERT H HIALT Hr HF IT7dT 2 g

Options:

% TH1IFE

. x OB 23FE

. » O 9% 3§

, % TS S TF I A& E

Question Number : 107 Question Id : 7368157583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: Nuclear families have a better advantage over joint families?

Argument 1: There is more sense of security in joint families.
Argument 2: There is more sense of freedom in nuclear families.

Options:
L ® Argument 1 1s strong

5 ® Argument 2 is strong

-  Both the Arguments are strong

4, % Neither of the Arguments are strong
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Find the area of the below figure.

4 cm
L] L]
2em
B Sem
L]
Gcm
m| ]
Options:

1« 35 cm?
> % 40 cm?
= % 44 cm?

4 % 41 cm?
Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 108 Question Id : 7368157584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
&1 STE TR FT SFH AT HiA

dem
T U

fem

Options:

|« 35 T WA
5 % 40 T [T
= % 44 T WAL
4 % 41 7 WA

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 109 Question Id : 7368157585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ms. Toshalika likes to let her students choose who their partners will be; however. no pair
of students may work together more than seven class periods in a row.
Alkash and Bijay have studied together seven class periods m a row. Carter and Dave have
worked together three class periods in a row. Carter does not want to work with Akash.
Who should be assigned to work with Bijay?
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1 o i

> % Akash
= % Dave

4 % Toshalika

Question Number : 109 Question Id : 7368157585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F. AIREH HI OIS FT T @ A F HTH TaT FT §; TR T
Fr Fg o S AR WT T SIS FET JI (class periods) H FH AT
T 91T

HTRTT AT ST & TPIaR 919 FaT 399 J q2e 1) FeT div g F v
Ty & FET HET G &7 F RN FIET HTHT F Y FIH FAeT Fa
=EcT| o & WY A & & T e gar srer =ifge?

Options:

1.@*?%?

. % TSR

3.%333

4_&:31'1:5?43?[

Question Number : 110 Question Id : 7368157586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the area of the semicircle whose radius is 30cm?
Options:

1 ® 3789 cm?

> % 2300 cm?
= % 2410 cm?
4 « 1410 cm?

Question Number : 110 Question Id : 7368157586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3T HUFed FT STRA AT Y @D Fear 30 A F

Options:

. % 3789 T WA
. = 2300 T oA
5 % 2410 I @A
4 v 1410 T57 oA
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Question Number : 111 Question Id : 7368157587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

If quotient is 603, divisor is 324 and remainder is 57 then what will be the dividend?

Options:
1« 195429

> % 189665
s % 186000
4 % 106783

Question Number : 111 Question Id : 7368157587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I AETHRT 603, =T 324 3T IAWFer 57 g, ar d=g T g=m?
Options:

. v 195429
. » 189665
- % 186000
. = 108783

Question Number : 112 Question Id : 7368157588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If bag is called grey. green is called blue, blue is called plant. plant is called yellow. yellow
is called water and water is called pink, then what is the color of leaf?

Options:

1 « Blue

> % Plant
z % Yellow

4 % Water

Question Number : 112 Question Id : 7368157588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3R ST FT S, Y F Arem, sArer @ odtem, 9t & e, drer # O s 9
FI I[ETEN FES &, Al Ted F1 T FAT BE?

Options:

| v e
5 % T
5 % Gl
4 % ST
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Question Number : 113 Question Id : 7368157589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You locate an unconscious old man under a table during a fire. What should you do?

Options:

1 % Reassure the old man

- % Call other people for assistance in the building
-  Carry the old man outside

4 % Seeifthe old man is breathing

Question Number : 113 Question Id : 7368157589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HETSAT 7 T & 3w &5 & A U g AT J@nh fr mrr F
fBerar &1 39T FT T =g

Options:

| x I AT FT ARTET F

, T & T $ARE # Ay 37 S F gew
. » I HEH F FET o AT

, » o0 T g ameHr 9w o @ ¥ A Al

Question Number : 114 Question Id : 7368157590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

During a flood. the superior officer asks a junior level officer to use a certain type of
rescue boat. The junior level officer feels that a different type of rescue boat should be
used. What should he do?

Options:

, % Use the rescue boat that he himself thinks is right for the job

- » Ask the officer to explain why they chose that type of rescue boat
-  Follow orders and once the flood situations become good. ask for an explanation

, % Tellthe senior officer that they should have chosen the other rescue boat

Question Number : 114 Question Id ;: 7368157590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Fr F=T AT F 9T F T F:B FiAtE T F HFNT FoAIAr £ &

e 3T 9FR F FFr FT st FAr I oge) oo = F 3%
FIAT AET?

Options:

. » SHT F=F AT F IIET F AT 3H FH FH & 0T W@ oo
HAFT F 9 & 38 30 ORE &1 =909 Al &1 TIT F74r e

o TG & 9re &Y 3R SR & a1 dr vy ' & A, FosdEur A

=9 ARH & F¢ % 38 gEI 99 Alwr F AT HAT AT oA

4 %

Question Number : 115 Question Id : 7368157591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the value of X.
X2+1245=5879

Options:

1 ® A 67.09

> % B.65.89
5 « C.68.07
4 % D.63.12

Question Number : 115 Question Id : 7368157591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
X T AT AT FI:

X2+1245=5879
Options:

1 % 67.09
> % 65.89
« 68.07
4 % B3I

Question Number : 116 Question Id : 7368157592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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e
| 14 em
; em
Scm
gem
Options:
1 ® 51 cm?

-~ % 50 cm?
= % 38 cm?
4 o 55 cm?

Question Number : 116 Question Id : 7368157592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT &1 7% HTHIT T TR AT HITA

dem

8cm

Eem

Options:

. % 51 T WA
- % 50 T WA
5 % 38 T WAL
4 » 55 T WA

Question Number : 117 Question Id : 7368157593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Carefully observe the given four positions of cubes and find which alphabet will be on the
face opposite to the face marked as 'A'?

A A D D

Options:
1.« D

2_$2B

# C
. visit this website studytosuccess.in
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4.

Question Number : 117 Question 1d : 7368157593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

@& 717 e @ = Tufoat & o= & 3T 3k A ¥ Rfeee 7 & Rl
g8 9T A I BT H AT Hiad:

A A D D

Options:
1.« D

E_QB
3_%':

4 % F

Question Number : 118 Question Id : 7368157594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A dice is numbered from G to L in different ways.

If G 1s adjacent to H. J and L. then which of the following statements is necessarily frue?

Options:
, = His opposite to L

> % Gisadjacenttol
s 1 1s adjacent to K
4 = lisoppositeto K

Question Number : 118 Question Id : 7368157594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF I (dice) # G ¥ L I Fr TE=TT3T 7 30097 HeTeT airehr ¥ 3fa &
g, I G HF 3R J, L F 99 & &, a7 &7 717 Iamei # ¥ SiF9r

FUF HETF T T T 7
Options:

 x HL&FRiT &
. % G | F T HE

v, KEFTTHE
Lx |, K& Rada
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will
complete the series by replacing the?
8, 13, 13, 23. 18,33 7

Options:

1 *® 24

o W 5

3

| ]

3 W
4%2?

Question Number : 119 Question Id : 7368157595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ﬁﬁmﬁﬁﬁﬁﬁmmmmﬁﬁﬁmmaﬁm:&'?‘aﬁr
gfaeaia &% 58 q0T
5 13 13, 23, 18 33, ?

Options:

1 % 24
5 ® 25
3 ¢ 23
4 % 27

Question Number : 120 Question Id : 7368157596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will
complete the series by replacing the?
1,2,6,24, 7

Options:
1 ® G0

o W o)
3 & 120
4 % 150

Question Number : 120 Question Id : 7368157596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

eI 7T Aot § ¥ 39 f&qnw%ﬂﬂqﬁﬁﬁﬁmﬁ?ﬁgémﬁ‘?'
F Fiaeia F:F $0 T F::
1. 2, 6,24, 2

Options:
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1

o B 95
5 ¢ 120
. % 150

Question Number : 121 Question Id ;: 7368157597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Introducing a woman, Jaggu said, "She is the only daughter of the mother
of my mother." How is Jaggu related to the woman?

Options:

1 % Father

> % Brother

2 Nephew

4 % Maternal Uncle

Question Number : 121 Question Id : 7368157597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Waﬂmmqﬁﬂﬂm?, S99 A FeT, "¥ AL AT Fr A Fr THaldr a2 g
S99 &1 38 3iRT & a7 Near 872

Options:

1_$$ﬁt._'"-
glw?ﬂé—

- s7=T (Nephew)

4 % HAT

Question Number : 122 Question Id : 7368157598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pointing to Raj, Nakul says, "I am the son of the only son of his
grandfather." How Nakul is related to Raj?

Options:
, % Nephew

- % 5Somn
% « Brother

4 % Father

Question Number : 122 Question Id : 7368157598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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| FFT F TS T FA fear 87
Options:
, % HST (Nephew)

> % &I
S.v‘*mé-
4.$$ﬁ{_'rr

Question Number : 123 Question Id : 7368157599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a certain code language. if ANGRY is coded as 36974 and DROP is coded as 2715, then
DRAGON will be coded as?

Options:
; ® 619327

5 273916
5 % 273961
4 % 172396

Question Number : 123 Question Id : 7368157599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fordT gk st & afe ANGRY & 36974 for@r =mar & 3t DROP &
2715 f3r@r =1ar &, aF DRAGON =t 5@ werr forgr Jreem?

Options:

| % 619327

» 273916
5 % 273961
. % 172396

Question Number : 124 Question Id : 7368157600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a certain code language, if SEVEN is coded as 35756 and FIVE is coded as 8405 and
THREE is coded as 21955, then THIRTEEN will be coded as?

Options:
1« 21492556

> % 14926552
3 % 21429655
4 % 21465529
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

T @afas s & i SEVEN =T 35756, FIVE &r 8405 3T THREE =r
21955 f3r@r =ar & ar THIRTEEN T T g for@r soem?

Options:

| v 21492556
. % 14926552
5 = 21429655
., % 21465529

Question Number : 125 Question Id : 7368157601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider the following information :

Let = stands for 'addition'. + stands for 'subtraction’. + stands for 'multiplication’ and -
stands for 'division',

Valueof10x4+-4-2+1=7
Options:

1 B 80

o W L3

3. ¢ 12

4 % 3

Question Number : 125 Question Id : 7368157601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

R s 9T fF=R #1:

A ST Ife X F SEA & O, ¢ F T uEs & B+ @ aor & Tl
A A AT F I AT T AT, ST 10x 4 +4-2+1=2aF
ATl F4T g7

Options:
1 ® 80
o B 25

4 % 5

Question Number : 126 Question Id : 7368157602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider the following information:

Let - means *, ¥ means —, + means + and + means -,
Then find the value of 20 < 6 +3 -7+ 40

Options: visit this website studytosuccess.in
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1.

2_%3
3_%2

4 % 1

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 126 Question Id : 7368157602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F=fafEE I W T=r #:1:

AT AT I - FT T X &, X FHT '+, FT N F AT F
HT - g ar 20x 6 +3 -7+ 40 = ? & A AF FL

Options:

1« 71

2_%3
3 % 2

4 % 1

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 127 Question Id : 7368157603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Alisha, Bill. Ginny. Dave, Elina, Ipsha and Smita are sitting in a row facing North
Ipsha is to the immediate right of Elina.
Elina is 4th to the right of Smita.
Ginny is the neighbour of Bill and Dave.
Person who is third to the left of Dave is at one of ends.
Who are to the left of Ginny?
Options:
, w» OnlyBill

- % Ginny. Bill and Dave

= « Smita and Bill

, » Dave. Elina. Ipsha and Alisha

Question Number : 127 Question Id : 7368157603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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gfea 7 95 &

STHT, Tl & 8 I WG &

TolleTT, TEAaT & I ¥ T T W R

freet, T 3 29 Fr o= §

& F AT F Y TR W AT g7 @fET F P W

ar feaT & 9T TF FiF 27

Options:

, » &% R

. o P, R 3k 2w

. » AT, e AR 2=

, % 39, Tol, $TET AR 3relrem

Question Number : 128 Question Id : 7368157604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Alisha, Bill. Ginny. Dave, Elina. Ipsha and Smita are sitting in a row facing North:
Ipsha is to the immediate right of Elina.
Elina is 4th to the right of Smita.
Ginny is the neighbour of Bill and Dave.
Person who is third to the left of Dave is at one of ends.
Which of the following statement is not true?

Options:
1 + Elina is to the immediate left of Dave

> % Alisha is at one of the ends
% % Smita is to the immediate left of Bill
, % Ipshais second to the right of Dave

Question Number : 128 Question Id : 7368157604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

37, e, Freal, 39, welier, soar H B 3ok 1 T <@ g U
gea H $5 &

STHT, TolleT & & G % &

T, TAAT R T ¥ Y T W

=, R ik g Hr o= &
E#Wﬂ?ﬁ@i’ﬁﬂﬁﬂéﬁgﬁm'@d T Fld W g
=T § ¥ Fiaar FaF 39T 27

Options:
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P t'?-"‘ﬂ?n ga' & S 1T FITCF%‘

. w 3TCT UF FT H
. « TEAGT e & 8% 90 WE &
il STHT, 39 % 9I¢ WE W g TUH W 7

Question Number : 129 Question Id : 7368157605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Alisha, Bill. Ginny. Dave, Elina. Ipsha and Smita are sitting in a row facing North:
Ipsha is to the immediate right of Elina.
Elina is 4th to the right of Smita.
Ginny is the neighbour of Bill and Dave.
Person who is third to the left of Dave is at one of ends.
Who are the neighbours of Bill?

Options:
, = Ginny and Dave

-  Ginny and Smita
- % Smita and Ipsha

, % Ginny and Elina

Question Number : 129 Question Id : 7368157605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

srarer, e, =T, 29, m,mﬁrﬁnﬁmﬁwmﬁ?w
qfed H 95 &

STHT, TAT & 8% o O1F &

TolldT, TTHaT & e ¥ 9 T W E

ey, foor 3R 29 fr o= &
E#Wﬂ?ﬁﬂ?ﬁﬂﬁﬂéﬁgﬁmﬁd TF Fld W ¢

e & 39 F97a FiT 2?2

Options:

% Bk Ew

- v =T S e
5 % fErar 3R sow
4 ® fore=tr 3ilT o

Question Number : 130 Question Id : 7368157606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25 o ) ) i
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pattern (A)(B)(C)(D)(E)

Lo [J | 8| (L= 7|V

A B Cc D E 1 2 3 4

Options:
1 # 1

2_%2
o W 3
4 ¢ 4

Question Number : 130 Question Id ;: 7368157606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g I v Reew (1), (2), (3) 3R (4) & F, 37 HFia F 999 F{ F (A)
(B) (C) (D) (E) & Yfawa & qor #:

A B c D E 1 2 3 4

Options:
1 ® 1

2_%2
3.%3

4 v 4

Question Number : 131 Question Id : 7368157607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Four pair of words are given below. out of which three are alike in some manner and one
pair is different.

Which pair is different from the rest?

Options:

1 % Pascal : Pressure

- % Watt : Power

5 % Ampere : Current

4  Radian : Degree

Question Number : 131 Question Id : 7368157607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 ® YIEhel © 9
o % dIC : AR
- % THEY U
4 v =TT =

Question Number : 132 Question Id : 7368157608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Four pair of words are given below. out of which three are alike in some manner and one

pair is different. Which pair is different from the rest?
Options:

L % Stamp : Letter

- % Ticket: Train

3 % Ink:Pen

4  Car:Engine

Question Number : 132 Question Id : 7368157608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A9 gl F IR A Gy v, TR ¥ 99 T v ge e @ A € 3R
U& NTHATT g FIAET ST G ST § 3966 22

Options:

| x T

> w EFe : T I
- » T : ®elH

, v PSS

Question Number : 133 Question Id : 7368157609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Four pair of words are given below. out of which three are alike in some manner and one
pair is different. Which pair is different from the rest?

Options:
1 % Husband : Wife

> % Lion:Fox

5 % Dog : Cat

visit this website studytosuccess.in
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Question Number : 133 Question Id : 7368157609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

da Sl F IR A T v g, TFF ¥ 99 Fd Y g ¥ 5AA § 3R
U TATT g FIFET ST ST ST § 37606 22

Options:
;% OfT : ToAr
. x 2 SAHS
3 ® W:ﬁlﬁ
4_JTE!TZT-HT

Question Number : 134 Question Id : 7368157610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Four pair of words are given below. out of which three are alike in some manner and one
pair is different. Which pair is different from the rest?

Options:

, w Shopkeeper : Customer

> % Doctor : Patient

5 % Lawyer: Client

4 « Clerk : File

Question Number : 134 Question Id : 7368157610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT el & IR A2 T v E, TE ¥ O e v v ¥ wAw £ 3k
U TATT g HIFaT ST Gehr JAET § 370097 22

Options:

| % SPER : AEF

. % EfhcEs : 7S
S_waﬁ?r:ﬂaﬁ%—or

. o TR @ BTEe

Question Number : 135 Question Id : 7368157611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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complete the series by replacing the?
13,35, 57, 19. 9117

Options:
, % 1038

> = 1231
5 = 1112
i o 1110

Question Number : 135 Question Id : 7368157611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

oo 7T Soeat § ¥ 39 e 7 T34 ﬁﬁﬁﬁ?ﬁﬁﬁ%‘émﬁ'?‘#
STeTE HTERT 3T qUT &L

13,86 57 79 911, 2

Options:

; = 1038
- % 1231
= % 1112
4« 1110

Question Number : 136 Question Id : 7368157612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will
complete the series by replacing the?

567, 189,63, 21, 7
Options:

1 & 6

L
3_%5
4 % 4

Question Number : 136 Question Id : 7368157612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T v et § ¥ 39 FeeT &1 994 ﬁﬁﬁﬁ?ﬁﬁﬁ%‘émﬁ'?‘#

STE AT 38 qUT Y
567, 189, 63 21, ?
Options:

1 ® 5

>« 1

visit this website studytosuccess.in
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3

4 % 4

Question Number : 137 Question Id : 7368157613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Introducing a man. Meherin said. "He is the father of the only daughter of my son." How
that man is related to Meherin?

Options:

1 & Son

> % Brother-in-law

%z % Husband

4 % Son-m-law

Question Number : 137 Question Id : 7368157613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U HEHT F TRET F U HGA A Fel, "9F T I FT ol 91 FH
Rrar &' 39 e 1 AgdT & F=7 fear 22

Options:

1 ST

- % HIel

5 % 9

4 % GQIHIG

Question Number : 138 Question Id : 7368157614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pointing to a photograph Aradhyva said, "He is the son of the only son of my grandfather.”
How is the man in the photograph related to Aradhya?

Options:
1.+ Brother

> % Uncle
z ® Son
4 % Father

Question Number : 138 Question Id ;: 7368157614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
maﬁ%ma&mmg, AT 7 FEl, "I8 A TEr F THhalg 8¢
FT 97 g JER A S GE § SHE e § F447 frear g2

Options:

1.&’#'_’%-
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E_WQET
4_%ﬁl_'"-

Question Number : 139 Question Id : 7368157615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the below given alternatives (1).(2).(3) and (4), select a figure that will complete the

pattern (A)(B)(C)(D)(E)

8 t|4 QT 1%y TIg ¢ |
1 4L %% 818 Il TI1L
{

(a) (B) (C) (D) (E)

s
a- 00

Options:
1 ® 1

2%2
T W 3
4 ¢ 4

Question Number : 139 Question Id : 7368157615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A fow a1 e (1), (2), (3) 3R (4) H W, 37 AFA F TI97 & A (A)
(B) (C) (D) (E) & =1 &I U X :

8 ¢4 8IT I+ T|® ¢ G4 Q1 81 ©
1 L)L #[¢ 8|8 I TIL T 41 T ¢
(p) (B) (C) (D) (E) (1) (2) (3) (4)

Options:

1_321

2_%2

3_%3

4 ¢ 4

Question Number : 140 Question Id : 7368157616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the below given alternatives (1).(2).(3) and (4), select a figure that will complete the

pattern (A)(B)(C)(D)(E)

b el ll B O | SN B N

{8y (B)Y (c) (D) (E) (1 (2) (3) (4)

Options:

visit this website studytosuccess.in
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2_%2
3¢ 3
4 % 4

Question Number : 140 Question Id : 7368157616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
= o a1 e (1), (2), (3) 3R (4) # §, 37 1G9 & 9499 F{ A (A)
(B) (C) (D) (E) & 9fa®9 & T &

bl bl e Lo W

(A) (B) (€) (D) (B} (1) (2) (3) (4

Options:
1 & 1

2_%2

3¢ 3
4 % 4

Question Number : 141 Question Id : 7368157617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following information:
Let if + means =, ¥ means -, —~ means x and - means+, then find the value
of 120+ 12 x6+3-2

Options:
1 ® -12

> o -0
T W 12

4 % 2073

Question Number : 141 Question Id : 7368157617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=TT S 97 = FiET

AT ot Ifg '+ &7 3997 '+, X HT HA C O F HY X AT Y F o 4
ar 120 +12 x 6 +3 - 2 = ? & AT FAT grEN?

Options:

1_&3-12

2« -8

3%12
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Question Number : 142 Question Id : 7368157618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider the followmg information:

Letif — means x'. - means <+, x'means -‘and " means . then what will be the
valueof 12 +-48—-8x4+4="7

Options:

1. % 4

i % 20

=] # 06

4 2

Question Number : 142 Question Id : 7368157618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tt s 9T T=Er fifET
AT N I '+ &7 70 X FT OHT ', X F FY - R FT o+ g
12 +48-8x 4 + 4 = ? F AF AT F=A?

Options:

1 % 4
- % 20
z % 6
4 & 2

Question Number : 143 Question 1d : 7368157619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Carefully observe the given sheet of paper (X). You need to find out the cube from the
given alternatives that is formed by using given paper (X)

Options:
, » land2only

| B

> % 2and4 only

5  2and 3 only

4 = land4only

Question Number : 143 Question 1d : 7368157619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i
visit this website studytosuccess.in
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FETH & dF (X) F O ¥ I H9eFr BT 710 Fepeat § ¥ 39 99 &1
9T TS & S a1 (X) F 9T W 4T 20
P

T 9 & v ¢

L ow FET 1 3R 2
o % FIF 2 AR 4
- v FId 2 3R 3
4 % FFer 1 3T 4

Question Number : 144 Question Id ;: 7368157620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider the following information:

Letif '+ means X', - means +'. + means +°and X’ means -°. then what will be the
valueof 16 +64—-4x4+3=7
Options:

1.« 20

> % 15

| ]

3_%5

| ]

g % 1

Question Number : 144 Question 1d : 7368157620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g AN 97 == fiET
I S FfE '+ @ ot X - oF AT, FT oS SR X F H e g
A 16 +64-4x4+3 = ? F AA AT Hi=a3?

Options:

1. v 20
> % 15
2 % D2
4 % 12

Question Number : 145 Question Id : 7368157621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Let ¥ means =—. - maans «. — means + and + means -. then find the value of
(3-15+19)x8+6

Options:
1. % 8

o % 4
3¢ 2
4 % -1

Question Number : 145 Question Id : 7368157621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=@ e 97 TEr fifET
I X FOoFT ¢, L F HT X, FTHA + OHR T oHT YR
AT (3-15+ 19) x 8 + 6 = ? FT AF AT HI=A?

Options:

1 % 8
> % 4
3¢ 2
4 % -1

Question Number : 146 Question Id : 7368157622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If radius is 5 inch and height is 8 inch, calculate the lateral surface area of cylinder.

Options:
, % 248.88 sq.inch

> % 435.23 sq.inch
=  251.33 sq.inch

4 % 320 sq.inch

Question Number : 146 Question Id : 7368157622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofs B=ar 5 =9 ¢ 3t F=S 8 =9 &, &1 Us 99 &7 Wned Hag & %A 7T
F=T?

Options:

| % 248.88 T F
, « 435.23 T
. » 251.33 T &=
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Question Number : 147 Question Id : 7368157623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will complete the series
by replacing the ?

3, 12,26, 54, 110, ?

Options:
1 % 128

> % 144
3 % 192
i w3

Question Number : 147 Question Id : 7368157623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

few gu fereat & & 3@ faeT & @A HfSd A A & g5 A@en 72 A
ST T S U7

5, 12, 26, 54, 110, ?

Options:

L % 128
> % 144
s % 192
4 222

Question Number : 148 Question 1d : 7368157624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose the correct number from the below given alternatives that will
complete the series by replacing the ?
34,33.49,74, ?

Options:
1 % 124

5 « 110
2 = 177
4 % 118

Question Number : 148 Question Id : 7368157624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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STE AT $H qOT
34, 33, 49, 74, ?

Options:

1 % 124
> « 110
z % 177
4 % 118

Question Number : 149 Question Id : 7368157625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

There are few pieces shown in figure (X). You have to find all those components present
from a particular alternative (1).(2).(3).(4) given.

0 008[A0 | O[30
o A ?@:0 75| S

(X) (1) (2) (3)

Options:
1 #® 1

o o 2
3_%3
4 % 4

Question Number : 149 Question Id : 7368157625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HFI (X) # Fo a7 F@re 71w g 3w e 7w (1), (2), (3), (4) RHFedr &
¥ 39 TFeq & T ¢ T\ (X) & @it o &

® ®A0 | O 0
%% S| S9[we3| 29
(x) (1) (2) (3)

Options:

1 &% 1

2 2

= % 3

4 % 4

Question Number : 150 Question Id : 7368157626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25 visit this website studytosuccess.in



e e e P ot L Rrevioy e Y ear Biem paper provides
the rest.

P BB

(1) (2) (3) (4)

Options:
1 ® 1

2%2
z ¢ 3
4.$24

Question Number : 150 Question Id : 7368157626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(1) (2) (3) (4) FoFemi § @ 38 HFla # I=F 3 @y ® & 2

P BB

(1) (2) (3) (4)

Options:

1 ® 1

o % 2

3¢ 3

E 4

erleral Awareness

Section Id ; 736815148
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 736815224
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 7368157627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Whltﬁl amcﬁe o%r I?IH‘EIH cnusmg‘rmn 15 about ﬁle‘}[mﬁamema d t1es oFa c1tlzgap P
Options:

, ® 50A
5 o S1A
s % S0B
4 % SIB

Question Number : 151 Question Id : 7368157627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT T & Fid T Feqeoe, AFNF & Ao Hacdl § Ha0d 82

Options:

¢ 51T

Question Number : 152 Question Id : 7368157628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many languages have been recognized as official languages by the Indian
constitution?
Options:
1 #® 23

I
(]

oo

)

3 R

|
L]

4 ®

Question Number : 152 Question Id : 7368157628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TAT TiAae ar TaET aTeTHT Y MRS Wit & F F AT &
g B

Options:

1 % 25

W B
2 % 18
q % 29

Question Number : 153 Question Id : 7368157629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The maximum strength of Ra% ( ha cml}. hgetextetndgd t‘m )
s website studytosuccess.in
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1 #® 350
> % 552
3.« 250
4 % 500

[ ]

Question Number : 153 Question Id : 7368157629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T=TEAT F THSEAT ST dTehd (T Fr FFaq raar Terar 31 ar &7
Options:

. % 350
, % 552
- « 250
. % 500

Question Number : 154 Question 1d : 7368157630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The maximum number of Anglo-Indians who can be nominated to Lok Sabha is

Options:
1 & 10

2_%."-‘

= W

[ S R ]

4 &

Question Number : 154 Question Id : 7368157630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
s & BT AAfEFRT T 7 G G tTarEEay & 3feas e
Faer &7

Options:

1 ® 10

2_%5

3_%8

4 2

Question Number : 155 Question Id : 7368157631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who administers the oath of office to the President?
Options:
1 « Chief Justice of India
visit this website studytosuccess.in
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% % Vice-President
4 % Prime Minister

Question Number : 155 Question Id : 7368157631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ITS2qfd 9 HT 9 F i Eamar 87

Options:

T & HET FTITRiTr
1. ¢ 3

Question Number : 156 Question Id : 7368157632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who was the first Indian to win an individual medal in Olympics?

Options:
1 % Karanam Malleshwari

> % PT.Usha
% « K.D.Jadhav

4 % Rajvardhan Singh Rathore

Question Number : 156 Question Id : 7368157632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hrofs H =aFaTd g Ada Il Iga AT i UT?
Options:

5 v . 3. FYd

, » U= g wers

Question Number : 157 Question Id : 7368157633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Who was the first Miss India to participate in Miss Universe contest?
Options:

, % Aishwarya Rai
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- % Diana Hayden

4 % Sushmita Sen

Question Number : 157 Question Id : 7368157633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e gfaew sfaaifar & swr o arer Tgar @w sEa wia o9

Options:

| % URIAT [T
z.ﬁwm
5. ST g
4.$3:zgﬁ“@nmﬁ?r

Question Number : 158 Question Id : 7368157634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which playback singer among the following is honored with Bharat Ratna Award?

Options:
1 % Kishore Kumar

- % Asha Bhonsle
z % Mohammad Rafi

4 « Lata Mangeshkar

Question Number : 158 Question Id : 7368157634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fFrfof@a & @ 57 aed 9% & Ra T [WEPR & TFATAT (haT 21T
qT?

Options:

, BT FER
i.. =

= W mm

Question Number : 159 Question Id : 7368157635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In how many fields is the Nobel Prize awarded?

Options:
visit this website studytosuccess.in
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] ,
> % Three
= # BSeven
4 % Four

Question Number : 159 Question Id : 7368157635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aol RN fohde &t 7 I smar 87
Options:

| v O

o % et

3 % HId

4 % TN

Question Number : 160 Question Id : 7368157636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who was the first Indian to win the ‘Booker Prize’?
Options:

, % Chetan Bhagat

> % Arvind Adiga
%z % Vikram Seth

4 + Salman Rushdie

Question Number : 160 Question Id : 7368157636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

THT RERR' SAdA aTel T8l ARAT Hid AT?

Options:

| % Tdel HIT
, « 3T
o T A
4 TAHAT T

Question Number : 161 Question Id : 7368157637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the book ‘Mother India’?
Options:

1 % Sister Nivedita
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5 % Sarojini Naidu

4 « Catherine Mayo

Question Number : 161 Question Id : 7368157637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FeX 39T JFaw & oEe A 82

Options:

.« AT RfEar

AU ATAZ

3 ®

s v Sl

Question Number : 162 Question Id : 7368157638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The book ‘India Remembered” was written by?

Options:

1 « Pamela Mountbatten
> % Sister Nivedita

=z % Amitav Ghosh

4, % Sarojini Naidu

Question Number : 162 Question Id : 7368157638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
sfEar e foae fraw o 87

Options:

| v TGTHET ASTEeA
_ » Freex AR
5w AT Oy
% WIS=T 193

Question Number : 163 Question Id : 7368157639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the author of the book ‘Conquest Of The Self’?
Options:
, » Kushwanth Singh
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> % LK. Gupra

- % Sarojini Naidu
4 +« Mahatma Gandhi

Question Number : 163 Question Id : 7368157639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T @ @S (Conquest Of The Self) T&d® & oG i 87
Options:

1. % q%ﬁm ﬁﬁ%‘

o= IS, &. T

. w TS ATIE

4 v HEIcHT ey

Question Number : 164 Question Id : 7368157640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the author of the book ‘My Presidential Years’?

Options:
1 « R. Venkataraman

> % V.V. Giri
- = C.Rajagopala Chary
4 % Pranab Mukherjee

Question Number : 164 Question Id : 7368157640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FY T 9 F I (My Presidential Years) T¢de & o1& hied g7
Options:

| v HR. JFeTHIT
= % T AT

mﬂaﬁ

4 %

Question Number : 165 Question Id : 7368157641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The book ‘A Tale Of Two Revolts’ was written by
Options:
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5 o Rajmohan Gandhi

= % Vikram Seth

4 % Bhagat Singh

Question Number : 165 Question Id : 7368157641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e 3 fReifEdt Fr FFEr (A Tale Of Two Revolts) freer ot &2
Options:

| w SIS Imedr

o  THARES et

- » FOFE w3

. » o°T f@E

Question Number : 166 Question Id : 7368157642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is a folk dance?

Options:
1 « Garba
> # Kathak

- » Bharatanatyam

4 % Kathakali

Question Number : 166 Question Id : 7368157642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T afe@T & ¥ #i9 T wF aF 7 2

Options:

1, ¢ RS

o R ik

z % SHdeHA

4 % TUF

Question Number : 167 Question Id : 7368157643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The term ‘Ayurveda’ literally means?

Options:

% First Aid
1, W RN visit this website studytosuccess.in
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5 % Science of Surgery

4 % Science of Medicine

Question Number : 167 Question Id : 7368157643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
WIS g T AMfeesh Y F4T &7

Options:

. » SuFEE R
>« SAFe F FAA

- w TCATAThcHT Tt
4 » MEfecar T

Question Number : 168 Question Id : 7368157644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The theory of classical music was discussed in
Options:

1 « Sama Veda

- » RigVeda

3z % Atharava Veda

4 % Yajur Veda

Question Number : 168 Question Id : 7368157644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
MET TT F Ve Hr == Fw a7 H = 72

Options:

1_¢m

Question Number : 169 Question Id : 7368157645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

M.S. Subba Lakshmi is famous in the field of
Options:

| = Poetry
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2

3 « Music

, % Painting

Question Number : 169 Question Id : 7368157645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
UH. TH. GeaoeAr hE & F # wiEe 87

Options:

1_33?%?1'
g_ﬁiq—i?q
guf-\d?ﬂa
4%%?

Question Number : 170 Question Id : 7368157646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The words ‘Satyameva Jayate’ inscribed below the base of National emblem of India are
taken from which of the following ancient scriptures?

Options:

, « Mundaka Upanishad
- % [laittriya Upanishad

- % Chandogya Upanishad

4 w Aittreya Upanishad

Question Number : 170 Question Id ;: 7368157646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTT & TSET Jarer & # o oeg 'Tegas 94 &g g arey & o
T B?

Options:

e abio
, « AT sufree
B REE AR IDACS
4 AT NG

Question Number : 171 Question Id : 7368157647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who was the first Director of Central Bureau of Investigation (CBI)?
visit this website studytosuccess.in
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1 # Narahari Rao

- % Manekshaw

z « D.P. Kohli

, % Brijesh Mishra

Question Number : 171 Question Id : 7368157647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FET FT T (FEaE) F guH T Fia 92

Options:

3 AER T
> # AT o
. o S FEe
4 % Rrsrer e

Question Number : 172 Question Id ;: 7368157648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which former Prime Minister’s autobiography is titled as ‘The Insider’?
Options:

1 « P.V.Narasimha Rao

- % Manmohan Singh

- » Rajiv Gandhi

4 % Dewe Gowda

Question Number : 172 Question Id : 7368157648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T 9 geraaTE f dcFww F f¥E T sAmEs 2

Options:

| o O T e
5> R AaAE e

3 ® TS ey

4 % o disT

Question Number : 173 Question Id : 7368157649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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‘My Country N ? Lr{}e 1s the tltlE‘D autobiography o ?‘ﬁ.hl yfe ?1 paperp

following Indian Politicians?
Options:
, = Rajnath Singh

> % Mulayam Singh Yadav
- % Rajiv Gandhi

4 « L.K. Advani

Question Number : 173 Question Id : 7368157649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘AT FEr ATT AEF JTHF JTeAFd Feafaaa & o 5w awaT asaar $r
g2

Options:

1 % IAATH ‘F\EEE'

HoraA g aeT

g
4 v TS . HsIm0TT

Question Number : 174 Question Id : 7368157650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Vasundhara Raje is the first woman Chief Minister of which Indian State?
Options:

, « Rajasthan

> % Maharashtra
= % Goa

4, # Madhya Pradesh

Question Number : 174 Question Id : 7368157650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T T FoRE ST T F agen Afger gEgadr 82
Options:

1w T

o % HERISE
z R TﬂEIT

4 % HET FE
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who was the minister of Railways from 2004 to 2009 in the UPA Government?
Options:
1 # Suresh Prabhu

- % Sushma Swaraj

% % Uma Bharathi

4 + Laloo Prasad Yadav

Question Number : 175 Question Id : 7368157651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TNT TR H 2004-2009 H I HH Fia ar?

Options:

5 % AT FITA

5 % 3HAT HIAN
, o T SEE AeS

Question Number : 176 Question Id : 7368157652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present Director of Indian cricket team?

Options:
, w» Gary Kirsten
> « Ravi Shastri

- % Kapil Dev

4 % Rahul Dravid

Question Number : 176 Question Id ;: 7368157652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

aRET e & F T9uE Rdaw wiF #7
Options:

zfﬁam
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who among the following has been elected as the new president of FIFA?
Options:
1 % Chris Havell

- % Thomas Blake
5 « Gianni Infantino

, % Gen Thorpe

Question Number : 177 Question Id : 7368157653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TafRa 7 @ Ao & a0 3y & &9 7 g =g G = &2

Options:

. » @ & (Chris Havell)
, « UIAY &I (Thomas Blake)

. » PRI Seharear (Gianni Infantino)
4 B AT AT (Gen Thorpe)

Question Number : 178 Question I1d : 7368157654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The railway budget of 2016 announced set up of which of the following research center?

Options:
; ®# RAGHA

- % MEGHA
T NIN
4 v SHRESTHA

Question Number : 178 Question Id : 7368157654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2016 & Yo 9=t H &g oer &g Fr raraar r oo $r g &2

Options:

. % TET (RAGHA)
.« FET (MEGHA)

. x UTAIRT (NIN)

, » 35 (SHRESTHA)
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which state has recently launched “Niramaya® scheme which involves free distribution of
medicines to people?

Options:
1 « Odisha

- % Tlelangana
3 % Andhra Pradesh
4 % Uttar Pradesh

Question Number : 179 Question Id : 7368157655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fow o= & ga & 7 'AuEEr g g% f § TEE @ e e gan
i & = 27

Options:

1 v e
g_w?t?»i?ﬂ?ﬂ
2 ® HTT &
4 % Scal 9er

Question Number : 180 Question Id : 7368157656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who has been appointed as the Chairman of National Human Rights Commission?

Options:
1 % Shekhar Das

> o H.L. Dattu

5 % Muthuraj Kumar

, % Prashanth Iyer

Question Number : 180 Question Id : 7368157656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TSET AR HTEART & HeeT & &9 7 ra e fear o g2
Options:
| % AT ETH

we.lel. dlf{?ij

o o

3 % dj%(ld‘l i'nHI*{
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Question Number : 181 Question Id : 7368157657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The full form name of automobile manufacturer TVS is
Options:

, « Trichur Vengaram Sundaram

> % Trichur Vehicle station

= % Total Vehicle Showroom

4 % Trigvy Vehicle Station

Question Number : 181 Question Id : 7368157657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e AT &9 TVS &1 QU a7 =T 82

Options:

1Jﬁ;ﬁ-mﬂm
, « P e o
. e ARFT o
, » eI afgwe Fuw

Question Number : 182 Question Id : 7368157658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where was the first Indian Institute of Management (IIM) established?

Options:

1 % Chennai
> « Kolkata
- % DBangalore
4 % Ahmedabad

Question Number : 182 Question Id : 7368157658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AR F TEaTT 31301 SEICde ATh Hoawe (IIM) wgr Fonfa frar /ar or?

Options:

i % ﬂ”é
T W m
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Question Number : 183 Question Id : 7368157659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Indian currency. the twenty rupee note depicts scene from which island?

Options:
1+ Andaman and Nicobar

- % Daman & Diu

- w Lakshadweep

4 % Willingdon

Question Number : 183 Question Id : 7368157659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ARAT &9 T F Al § T T & 2T H 2 T4 g?

Options:

| v 3EAE AR FFER
> » A AR &9

= R T g

" RCICEEG]

Question Number : 184 Question Id : 7368157660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The wool obtained from Himalayan Goat is called?
Options:
, = Angora Wool

> « Pashmina Wool
=z % Red Wool
4 % Silk Wool

Question Number : 184 Question Id : 7368157660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TR ST & 9IoF F FT FIT FET AT 27

Options:

3T FF (Angora Wool)

.  THEAT 5 (Pashmina Wool)

5 » ol Fd (Red Wool)
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4% %1?1‘[ 3= (Silk Wool)

Question Number : 185 Question Id : 7368157661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which automobile company manufactured the famous ‘Ambassador’ car?

Options:
1 % Mahindra

-~ % Honda
5 % Maruti Suzuki

4 + Hindustan Motors

Question Number : 185 Question Id : 7368157661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fore AT AN I o 'TEEST FR FH AT T 92

Options:

1. % H %‘EI

- it

HILld ijlﬂﬂ'rl

R
4_3%@@?%

Question Number : 186 Question Id : 7368157662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
First computerized railway reservation was started at

Options:
1 % Calcutta

» w DBombay

= « New Delhi

4 % Chennai

Question Number : 186 Question Id : 7368157662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
JEoll FFYLIpd Tod HNETUT @l W E foram =1ar «r?
Options:
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Question Number : 187 Question Id ;: 7368157663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first Indian satellite to be launched is
Options:

1 % Bhaskara-1

> % INSAT-1A
= % Rohini

4  Aryabhatta

Question Number : 187 Question Id : 7368157663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT o Tt §ew 9geT 399E i AT 272

Options:
| % STERT -1

, % FAHE -1T (INSAT-1A)
=z ® I %Dil
, » HUSTE

Question Number : 188 Question Id : 7368157664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Indian state has the highest number of operating airports?

Options:
, % Madhya Pradesh

- % Uttar Pradesh
3 « Maharashtra
4 R Rajasthan

Question Number : 188 Question Id : 7368157664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g g Usg 7 T 9 3=l Y Uwwr ey e 27

Options:
| % HET 9Sr

. % 3ol g&or
R HENT g
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Question Number : 189 Question Id : 7368157665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

On the banks of which river is Goa located?
Options:

1 % Sabarmati

> % Gomti
z % Kaveri
4 « Mandovi

Question Number : 189 Question Id : 7368157665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T fohg 76 & 9T W e 82
Options:
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Question Number : 190 Question Id : 7368157666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which state 1s known as ‘India’s Spice Garden’?
Options:

1 « Kerala

> % Andhra Pradesh
= % Tamil Nadu

4 % Karnataka

Question Number : 190 Question Id ;: 7368157666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FIFET T=F "9 & TIASH e & F H FAT 1T 272
Options:
| v B
o % T F&T
JHTATS

z R 2

4 % FAEH

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides

Question Number : 191 Question Id : 7368157667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

When was Mahatma Gandhi assassinated?
Options:

| ® January 15, 1949

> % January 30.1949
5 January 30. 1948

4 % January 25, 1948

Question Number : 191 Question Id : 7368157667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HETcAT TMeft &7 gaT 9 HT TF A7?

Options:

% 15 SAaLT 1949
> % 30 FaLr 1949
- 30 AL 1948
4 % 25 AL 1948

S

Question Number : 192 Question Id : 7368157668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who gave the slogan ‘Jai Jawan Jai Kisan'?

Options:
1 % Vallabh Bhai Patel

> % Gopal Krishna Gokhale

= % Mahatma Gandhi
4 + Lal Bahadur Shastri

Question Number : 192 Question Id ;: 7368157668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

|« TooHATS 9T

o s CNOTSr FEOT AT
5. FETeAT 3refy
4&?%6?@{5@

visit this website studytosuccess.in



QuestR LS8 BN More adateo, Mote; Al PR S YRR FXBIPH NS RIMNII e

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The birth place of Sonia Gandhi is
Options:

. ltaly

> % Switzerland

- % Spain

4 % Russia

Question Number : 193 Question 1d : 7368157669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g smefy 1 Fed T ST Gr 27

Options:
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Question Number : 194 Question Id : 7368157670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who was the president of Indian National congress when India attained Independence?

Options:
1 + Jawaharlal Nehru

- % Vallabh Bhai Patel
=z % Maulana Azad
4 % W.C.Banerjee

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 194 Question Id : 7368157670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST T HTAET & dI¢ SRArd ISerd HIT ol HETET il 2T?

Options:
Y
1 ¢ Jdlglellel dga

.8 T AS T

- x FISTEAT 3HTATG

, « Seog. W Sl
Note: For thisquestion, discrepancy lﬁgm MWg'qugtMaytamwiﬁ all candidates.
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Question Number : 195 Question Id : 7368157671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What was the nickname given to Rani Laxmi Bai?

Options:
1 « Manu

-~ % Tanu
= % Renu
4 % Raga

Question Number : 195 Question Id : 7368157671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT TEHT G5 FT HiT T 394H7 Z@r = ar?

Options:

1.%??;@-
o
3_&-‘3@
4 & A

o R

Question Number : 196 Question Id : 7368157672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many gold medals did India win in Olympics so far?

Options:
1 ® 15

2 9
5 #® 20
E 3

Question Number : 196 Question Id : 7368157672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T OF 9RT o s & B 90 T S 27

Options:

1 ® 15
>« 9
z R 20

4.%3

Question Number : 197 Question Id : 7368157673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Optipn prk‘fp.t,ation : Vgtiqil .
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Ryder Cup is associated with which of the following games?

Options:
1 % Football

- w Hockey

= « Golf

4 % Badminton

Question Number : 197 Question Id : 7368157673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ﬁmﬁﬁaﬁﬁwm%&@aﬂ:maﬁg}nt

Options:

1.8 &

o w BT

5 v JeH
4 B s=iea

Question Number : 198 Question Id : 7368157674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who was the first batsman to complete 10000 runs in one day cricket?

Options:

, % Inzamam-ul-Haq
> % Brian Lara

- » Ricky Ponting

4 + Sachin Tendulkar

Question Number : 198 Question Id : 7368157674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
v feadr fhe # 10000 3@ X FT I I8 Toodrs Hid o2

Options:

| ® SHATA-39-3% (Inzamam-ul-Haq)

5 % 9« M (Brian Lara)
. % 1@ difesT (Ricky Ponting)

, e dselY (Sachin Tendulkar)
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Who is first Indian tennis player to win a grand slam title?
Options:

1 + Mahesh Bhupathi

- % Leander Paes

5 % Sania Mirza

4 % Prakash Padukone

Question Number : 199 Question Id : 7368157675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o ¥ =F Tae Fiaa I 981 9Rag WarEr ST 872

Options:

| T &afd (Mahesh Bhupathi)

, % SNUST 9T (Leander Paes)

3 ® orferar ST (Sania Mirza)

. & TP UIgeIT (Prakash Padukone)

Question Number : 200 Question Id : 7368157676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the first Indian bowler to take Hat-trick in test matches?
Options:

1 % Anil Kumble

-  Harbhajan Singh
z % Chetan Sharma

, % KapilDev

Question Number : 200 Question Id : 7368157676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SFT H=T H 2fes 9 IeT uger 9aT dgars FiT 27
Options:
_ Hfarer Faer
1 ® 3
5 o EUS foE
4 ® el oF
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